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A 24 M-file ¥H57]

MATLABE ©]§3le] 93t 75 $asts $ie 2 % Az 7
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JMATLAB 7.6.0 (R2008a) [C |16
Ei_Ie Edit Text Go Cell TQ@I_S Debug _Earallel »
N |smB20 B |0 |[cH o[ @
Shortcuts 2l How to Add 2l What's MNew
Worksp... 2 7 = |id

= ;
Lglame Value ‘
H = [1,1.1]
£ ans [234]

1 [1.2.3]
£ | 3 |

L. 2 0er x| Command Window * 0 2 X
S _.é =
Al Files - ans =

!:Iteat.m
= test asy 2 3 4

>

&l >

|« start ln 2 Col 13

232 3.1: MATLAB%

A WA= Command Windowol] 21 W& 3= YHola, F
WA= Scriptd} L o] &3= Aot}
MATLABe| A A-§oHe 5t9¢ 25 Mfileo]2tT 21 5}9le] 843



Al 4 d LOAD & 31

A 3 A load ¥
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Sehe WMol Bo] So] 9 ARE o= Eolth g L AR

7F 0] A= 9t Datatxt‘é %4‘: AL S EAh

123 234 456
234 345 456

[¢]Al]] load ¥+ =213

S=load(’Data.txt’)

2 9] m-file®] Aol A= S+= 2 x 3 matrix7} = T}

A 4 A plot &

AR AHE 249 T2 e F o AL ETE plotES AL§ 3}
7 91814 270e) Wt B e 7 Wat 2 379 1 W (E)
o] o] of Fhe}.

e plot(X,Y)

e plot(Y)
=2 7L FA ZoH default 2 2L indexFP <, y=2 YV E 3Fe

2 o= 249 1g=E Rejzg

e plot(X,Y,8))
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Al 434 PLOT &

[4]A]] plot & =273

33

for i=1:21
x(1)=0.1x(i-1);
y(1)=x(i)"2;

end

plot(x,y)

title(’Graph of y=x"2’)

xlabel(’X?)

ylabel(’Y?)

grid

Graph ofy=x2
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B E'-x g 73’ Microsoft Visual Studio 2008’2 A E&] A ‘VS2008’'E A
Aty 19 4133

22 AIZF Hl0lR - Microsoft Visual Studio

JYF BIE =AM M HAZE W SSRH)
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r;' Microsoft* = [
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2% BlackScholes - Microsoft Visual Studio

SO BEEE =270 ESESp) 9C(E OHID) SR HASE W
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e RS RAA - M Eel = - =L Debug A P
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SN Il
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‘TR AEN FE ZIP (BET)
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Al 2 d CH++ 9o]o Y& 47

std::cout<<"&Z H °f2 A2 TFelE Q=AM ."<<std::endl;
std::cin>>hello;

std::cout<<"F A ° EH 2 {1 TF L "<<hellox<

"ol -] 5, "<<std::endl;

return O;

}

v CIWYWINDOWSYWsystem3dZ2Womd. exe

| C}.

9 AdE 2A HE Y43 Zs0] Btk stdicout I stdicin 28|31
std::endl ©] L7 21t O]%% std2}+= namespace©l] Ao H Y= FH22
EEEETE
o std::cout : =9
o stdicin : 948 9~
e std:zend]l : PWHI S~

ofwh W st Sholl £1FE7] 7L UT Bobd WEAS Y FHEo

BdS 53 JEHS YA s “stream” o] 2= 3L included] oF
gttt o2& st A9 S ol A3 oojth. d2 EEl e A A
FofoF & o] Ut FLS EH= FAFAA EELCI’—E%L o] &
A BHA] o S-S /A R vheF B e = gt o] EX) drhd 1



Al 2 d CH++ 9o]o Y& 49

input.open("scores.txt");
//data 2 7|

char Name[80];

char subject[80];

int score;

while(!input.eof ))//=fgl< & ° -1 AW
{

input>>Name>>subject>>score;

cout<<Name<<" "<<subject<<" "<<score<<endl;
X

input.clear();

input.close();//=F gl &7l

cout<<"Done'"<<endl;

return O;

}

CWWINDOWSWsystem32Womd. exe

yuna_kim math 95
taehee_kim english 189

2.2.3 39 97 » =
o] A Fo A= HolEHE 2 AU HolHE ¢7] YA ‘ofstream’, ‘ifstream’
classE o] &3t th HolHE 21 ¢l 42 Al Ay & 5 d&= 4

o
=
Foll= fstream’s HA 22T 4 At WO fstream’s ©]§ & B A

o



A2 A C++ ojo] Y& 51
2.3 WHEe e
2.3.1 H$
Wt 8hH Woke ekl AZbo] Het W e tolHE AREs A
= Rz Fho £o% o]F(F2 WRY ¥ = gt A
SHA H= Heole g S8 & o7 ded IA A543 Heeh A
TY HTE Udth 353 HSEE chard, intd, long¥ o] 1 A+
W= floatd, doubled WH7) Q)
27 & (data type) s = HRE 27 o] 8 o]
A4 char 11}ol E 2T~ 27T -1
unsigned char 18}o] E 0~28—1
int 4uolE —231 ~ 231
unsigned int 4v}ol E 0~232 -1
short 2ulo| E —215 ~ 215 —q
unsigned short 2"}ol E 0~216_1
long 4¥}ol E —231 231 _q
unsigned long 4ufol E 0~2%2 -1
A48 float 4u}ol E 3,4 x 10737 ~ 3.4 x 10138
double 8ulol E 1.7 x 107397 ~ 1.7 x 101308
long double | 8H}O]E &2 Z10]%4 zto] g Hol B9

ok ORI TR R AR 4

.

o ~nH
H S5FEol

rlr

Mk Ao

o
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A2 d O+t Aol YE

93

double d=123456789.101112;
char c=’B’;

bool b=true;

double ii=static_cast<double> (i);
char iii=static_cast<char> (i);

bool iiii=static_cast<bool> (i);

cout<<"i is"<<setw(6)<<i<<endl;
cout<<"i conversions to"<<" double :"<<setw(6)<<ii<<endl;
cout<<"i conversions to"<<" char :"<<setw(6)<<iii<<endl;

cout<<"i conversions to"<<" bool :"<<setw(6)<<iiii<<endl;

int dd=static_cast<int> (d);
char ddd=static_cast<char> (d);

bool dddd=static_cast<bool> (d);

cout<<"d is"<<setw(16)<<d<<endl;
cout<<"d conversions to"<<" int :"<<setw(6)<<dd<<endl;
cout<<"d conversions to"<<" char :"<<setw(6)<<ddd<<endl;

cout<<"d conversions to"<<" bool :"<<setw(6)<<dddd<<endl;

int cc=static_cast<int> (c);
double ccc=static_cast<double> (c);

bool cccc=static_cast<bool> (c);

cout<<"c is'"<<setw(6)<<c<<endl;
cout<<"c conversions to"<<" int :"<<setw(6)<<cc<<endl;
cout<<"c conversions to"<<" double :"<<setw(6)<<ccc<<endl;

cout<<"c conversions to"<<" bool :"<<setw(6)<<cccc<<endl;
int bb=static_cast<int> (b);
double bbb=static_cast<double> (b);

char bbbb=static_cast<char> (b);

cout<<"b is'"<<setw(6)<<b<<endl;
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AR Y W] o 45 A g WEY o E Foprz

#include<iostream>

using namespace std;

int main()

{

int 1=123456;

double d=123456789.10111213;

unsigned short us=static_cast<unsigned short>(i);

short s=static_cast<short>(i);

float f=static_cast<float>(d);
short d2f=static_cast<short>(d);

cout<<fixed;

cout<<"i is "<<i<<endl;

cout<<"i conversions to unsigned short is "<<us<<endl;
cout<<"i conversions to short is "<<s<<endl;
cout<<endl;

cout<<"d is "<<d<<endl;

cout<<"d conversions to float is "<<f<<endl;

cout<<"i conversions to short is "<<d2f<<endl;

return O;

}

2.3.3 Boolean 3 #

C dojol A= F(True)T} A Al (False) & A= YepATE AR 350,
QA AS ‘00] obd AL 2 FA] Yotk C++ Aojo| A& Boolean 3
HE7F A2 o] AR o= F3 AAE A2 TR 2o ok &
o] ‘True’2} ‘False’ Q1 Mottt shA| gk AA| ] A AH = Fhol A= WA
okotth ThA] Fal ‘True=1’, ‘False=0" o] Fto 2 A=t o8 A T
24 9 7hEA o] ZobXth

3



2
HAEE AAZ ) Al717F CAo oAM=
°|

A T8 ZEAAAGY B H
LM% qgte] A& 7] Ao] Adlo] = glofol BEol ATt AT
CH+ojollAE WY AAXNZ7F S83HA GA H Atk He= Ad
& AHLTL A4k &85 7] Aol At Ay HSE AN o= WS
A FAlo 2713} 3t WA AAdE AF-E 27)38+= ol ok
Fo o FH L HFE 2713 514 FSA HEE 2d 7|30 0] 01 7HA
Hohe= Aojth. 287 wjEe) H4E AAA FF H4EE AFESHA o
b= 002 27518 HFE Aol ZzaYo] AR TAALL
int vall; //int & =% vallg] NS
vall=10; //8% A% & 7|
int val2=20; //intd P val2s MAI} A £ |
Wy AAX] FA] sk AAst= A TS 7Msdtt)h o] of Ads+=
W4 o) &3} o] AbololE - (Auh 7 B2 ek
int vall, val2;
/* intg Y4 valld val2%
SO TTEC U e x/
2.3.5 W AAA Fo A
CAolol A Mt T ol A A M7 71 WA A ] 94 O+l
A Wl AAA] A= S8R 4ok W7 283 R4 HeH
Mes QT 4 Atk 290 7o) Al
1) i AAA A9 o523 ¢dapdl, A dYvHC )2 FATH (ST
A= ¢HE )
2) Wi AAA Lol tfEAe}F AF A= FEEL
3) W) ol B e AT AL 4 9 Bulo] R AL AT
4) A2 o] 507 QP ETF AFEE A= A TH(Z]IH ET CH++oll A AR
HE gEolet e Aot ol & £9 int, return, main,for 5©] AT}.)
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int a=10;

int b=20;

const int* p=&a;
cout<<p<<endl; //% QI =p It

cout<<*p<<endl; //Z A =p7F F=I3& It

//*p=30; //error
p=&b; //0K

a=30; //0K
cout<<p<<endl;

return O;

}

o2 ZAEE const AA3F= A -Folth

#include<iostream>

using namespace std;

int main()

{

[/EDE AT Fda

int a=10;

int b=20;

int* const p=&a;

cout<<*p<<endl;

// p=&b; //error T AT =3 &
*p=20; //0K Z 215} F= 3 JF
cout<<*p<<endl;

return O;

W2 AFEE o] constE olHE TAAAIN T const7} A A=
A]

}—XH'FSPZ] S AAIRE CH+oll A A7 7idolnt. shA R Cl o9

e 2= FA7F Brh const 7] E=EE 9 CA

3T =% O
2= A
)

A7 stEA Cdojol T =9E AEE 523 7] Y=olth constE =
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Operator Name Description

fvar | AAZAANA | Qare] HAA vare] L 157
(857}, FA4)

vart+ | FAZAIQAR} | Aabol BARTL vars) %E 157}
(A4t +57h

Cvar | AANPAANR | Axko] HA1Ael vare] e 174
(A4, FA4

var—— | SX LA} | A4ke] WMAH I vard] FE 17A
(2, F22)

Operator | Example | Result
< 1<2 true
> 1>2 false

<= 1<=2 true
>= 1>=2 false
== 1==2 false
= =2 true
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const int a=4;

double mathl[a];

#include<iostream>

using namespace std;

int main()

{

// dataType arrayName[index] array 13 3 %
double myList[3];

myList[0]=0.0;

myList[1]=1.0;

myList[2]=2.0;

cout<<"myList[2] is "<<myList[2]<<endl;

/* myList=fE intd 370 0,1,2 °F

£ array F el W rx/

/*array ™ o3 % 7|%e g 4] CHL F
dds Fe TAT TME St

double yourList[3]={0.0,1.0,2.0};
cout<<"yourList [2] is "<<yourList[2]<<endl;

//2*T Y arrays Srg A el S AT
double hisList[3][2]={{1,2},{2,3},{3,4}};

cout<<"hisList[1][1] is "<<hisList[1] [1]<<endl;

return O;
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//1/count 7 tol 2 5F 23 e, 29X Fe IS UL FE
{
cout<<"count"<<" "<<count<<endl;
count=count+1;
if (count >100)
break;
}
return O;
}
CWWINDOWSWsystem3IZWemd. exe
a
i
2
3
4
5
[
7
8
24
19 4.20: While & A3 A3}
while ¥3} H]<=6}A] do-while®©o] th o)== while®3} A9 B3}
t}. while® 3} T2 32 boolean & o] 2] Tof QlojA] Hojx 3t

AYEA ARL

#include<iostream>

using namespace std;

int main()
{
int count=0;

double to0l=0.12;
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O+ 2lo]e] 9

67

int main()

{

int num;

cout<<"9999° °r< & =g { Y *rM "<<endl;

cin>>num;

if (num>=1000) //1000% S & #

{

g = A

[T
[0

cout<<"“*r=] 4 ¢l “|=f."<<endl;

}

else if (num>=100) //10002 Y=l =2 1002 G<=i a4\

{

cout<<" M ==l & gl -] =[."<<endl;

}

else if (num>=10) //1002 G =& F=2F 102 = &M

{

cout<<"5 *f=| 4 ¢Ql“|=f."<<endl;

}

else //< <

{

cout<<" Tr = =] 4

}

return O;

}

ME JsE AT LIS A

Q! “1 =f."<<endl;

switch

‘WWINDOWSW system32Wemd. exe

o AP if ROz Aeshe Aol Atk AW A9

St A9 7 B true = falseE AR E /‘4‘5”"6}# if#9] 4
2382 2% Fo] SAW JAALE Yool &0 g2
dolth. T ifRe BE 2AEE o AN U E] A9 7}

Ok
- ==
Al UP

ulo
1o 2

o3

Kl

|
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{

double P;

switch(nType)

{

case 0: P = Axpow(l+r,n);

break;

case 1: P
break;

}

return P;

}

Ax(1+n*r) ;

WINDOWSWsystem3Z2¥Womd. exe

1249 B9t otk Fsetd ArhAly] AAE @
o] ATk Ct ofoll A

Fo) A, Aol e B whef o] A REo) 150 2T &
F5E Agrhseith BDaAl fz) =2+ & AAs] BA

int func (const int x) //3T % F T# xg AFE: Fe funcPFF I

{
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return O;

}

void call_by_value(int a, int b)

{

int temp;

temp=a;

a=b;

b=temp;

}

void call_by_reference(int &a, int &b)

{

int temp;

temp=a;

a=b;

b=temp;

}

19 4.23: call by value ¢} call by reference 2] *}-9]
2.7.2 349 Overloading
%‘—?91 overloading lﬂ ZE 54 desS st o5 ® A The
ZAolth. CAololAE maxeld int®d W48 R/ AT 1 F 2 48

2‘3’1‘ =5k ol th 3}Z] Tk vk 5= double® W49 rn:%lernum%AL oz
W ojmA D717 thEclEY W4 vEol vk 4wl gk A
Coltie ol Slek 270] F20) Overloading oIcF. Fh) Wb
OB AW A%Sel Wel, A5 ML Cht oA ThE FEA
RPATS AR T A
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return O;

}

C:WWINDOWSWsystem3Z2Womd. exe

a9 4.24: 349 overloading

Z4=9] Overloading & AF&A] £ - 3

E?_%‘ o] = Overloading= 6]-%]?} Hkekgg o] o}

t %eth ol ZEAA B GAA N F4E 5)

| =l d 922 w2 2] k7] wjE o) compiler+ oj¥® 34
2] offmsitiar Adsty Aot ol HE WA T

2.7.3 Default Qlx}

Defunlid} /12402 A8l & Agolchs ouloln. Avee e
AR Ae W B4l HEeled) AHSEE dutg sheA A
Oﬂioz 248 427 Austa guiehs Aol A Ae
2w ko] 437 Hefdth o EAoE Adso gt A

Defaultebss AW & 4 gtk 7hvleto] B Aoz Adso] 9t g2
Default 91412} & 4 9tk theo] o] Baf dopua,

>4 il

—

o rulm m{o a)

#include<iostream>

using namespace std;

int price(int num_shirts=1, int num_pants=1, int num_shoes=1)
//1EE2s MELY, SrF1g, A2 123=E AT A2 Default: TS
2t

{

int shirts_price=10000;//MZ% 129 T3
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2.8.1 Class?] #2]

class©= 3 A “class ©] &, “data field”, “method” ©] M| 7}A 2 FA = o] A

ok & 5 Ytk
- class ©] & : class9 o] &

- data field : object®] A4S YEM = field
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02 class o] 53 23 W] low overloading®] 7hs3ch 1]
3 BEEA] public o] ofof @tk AR 1 2AAME A3 default 447,
AA7E s AR, BA AR heS glh

P
4BA class7h 228 ©) 55 HE §5 o)tk AHTG J

e 2 class”7}
A28 o] A5 AV A AT 28] o7 ujFo HE
APt A FAEGSE AHHSE A sttt EAH S 2 &= classol§ ol

‘o] a1 Rk&gho] gl overloading &7Fs sttt A ARS} mpR7FA| =
public o] o] oF gttt

#include<iostream>
#include<cmath>

using namespace std;

class Equilateral

{

public:

double m_edge;

Equilateral(){};//default &id =t
Equilateral(double nedge)// 2= 7T A I

{

cout<<" QNP e I YW S A S -l 5F. "<<endl;
m_edge=nedge;

}

Equilateral(const Equilateral &Eq)//% *F M4 =t
{

cout<<"Z£ At WY FF LW = Py -l . "<<endl;
m_edge=Eq.m_edge;

}




Al 2 d CH++ 9o]o Y& 79

A Aol AAAL | 2]y
public S Rk o foM H2 58
protected A=A A Ao I ag) AbFle 2
el A2 o8
private | A% Zela delAw G2 64

Q] ol Al privatelt protectedoll 2ol E74s AR class W W 4
o] &} privatel} protectedol] o] 7heatrh AR AFGS §LA]
W2 % Set, Geto]2he o] 522 B AFgE o] AMESHT). Set, Get->
Shety] ks UWEsg Sote] o RoA WM sR 23t

oolth. Thg o Fal A1gste] 1A

S oX 2
:(I)L
0 rﬁ
of

k1
o
rlr o

#include<iostream>
#include<cmath>

using namespace std;

class Equilateral

{

public:

double m_edge;

Equilateral(){};

Equilateral(double nedge)

{

cout<<" QA F 7 QU MY F AW = Ay -l "<<endl;
m_edge=nedge;

}

Equilateral(const Equilateral &Eq)

{

cout<<"2 AF A Fr AW S AL -] 5. "<<endl;
m_edge=Eq.m_edge;

}

double area()

{

return m_edge*m_edge*sqrt(3.0)/4;

}
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~Shape O {};
void print(void);
void Set_area(double narea){m_area=narea;}
double Get_area(void){return m_area;}
protected:
double m_area;
};
void Shape: :print(void)
{
cout<<"= < 4 °lE "<<m_area<<endl;
}
class Equilateral :public Shape
//Equilateral classt Shape class & &% °r2 =
{
public:
double m_edge;
Equilateral () {m_area=m_edge*m_edge*sqrt(3.0)/4;}
/*m_areat Equilateral class® W= 2% 7 °F- =2t
Shape class9| Y4 |25 L& 3N print T+ T ™ A2 T #

S/

Equilateral (double nedge)

{

m_edge=nedge;
m_area=m_edge*m_edge*sqrt (3.0)/4;

}

Equilateral(const Equilateral &Eq)

{

m_edge=Eq.m_edge;

}

void Set_edge(double nedge){m_edge=nedge;}
double Get_edge(void){return m_edge;}
};

int main()

{
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plnt[0]of] &3 wE2 & S|AE A H 3 U A] 9719 w227} e
Hol MEe] w8 WA Aok 234 HE € 5 e L 7S A
2 g A g2 e dojd A =20l :aﬂx]% /ol e
At 4 298<= ?Ii_} 747 compiler7} 25 A 0.2 A S A 227
2ol REEA] WA Aoz S A £ 8l F=of of Thrt.

2.10 g A¥(enum)

AR L ATE BYE sttt A= Ttk ol RE M = e 5
Aol 44 HAdZE A= oA Jthd fdefinee = FAE & 5 AAA
s = = HEAE
Eea

o)
B
o
B8
= mo
>
Ir

rlr
Y
(o]

2ol o WAtk o2 BAE 3
R S

QutAoltt AAY O T LhEhE WY S

enum P % °1% {°1%1, °1%2, °1%3 "}

AAYe WiAow 4oz An EAos 08 14 3712 @
o} Tk 3hS trE A Ao E dlal Aud o] ‘=8 Bolal AYE
3 "k dE =

enum enumMark { EAST , WEST, SOUTH, NORTH};

T =
L=

enum enumMark { EAST =100, WEST, SOUTH, NORTH};

o9} o] AP 2A HW 5] P31 429 FHEAge] Fopd B
w olUet ol LAEE W& 5 Arh
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e e 4w
pushback(value) void vector®] valueE whA| g} 7o g 7}
popback() void vector®] wlA| gk 25 Al A
size() unsigned int vector®] = 7|
at(index: A} 5. &) 253 vector?] indexHA| Y45 Qb3
empty() bool vectore] H| o] Q1= A-¢
clear() void vector®] W& Al A stk
swap(vl : vector) void WE o JLE vt

vector A A3} &t tf53) e

#include<iostream>
#include<vector>

using namespace std;

int main()

{

J/1FTE A AT TS g A el
//vector< % %> == | (2= 2 7)),
vector<double> myList(3);

37 CFFle s
25 ""e s A V|

array<f % 2 °F=F.*/

/*myList =f%& double 3
AT PEHY fFa

cjo i wmjo

2. Trg de Y
myList [0]=0;
myList[1]=1;

myList [2]=2;

//myList % 9

for (unsigned int i=0; i<myList.size();i++)
cout<<"myList ["<<i<<"]"<<" is "<<myList[i]<<endl;
cout<<endl;

/1T S JdA(s T FHHE T A e




yourList[A] i=s 1@
yourList[1] is 11
yourList[2] is 12

myLi=zt[@]1 i= 1@
myLi=t[1] i= 11

myLi=zt[2] i= 12

yourList[A]
yourList[1]

[N
(2T

'R

yourList[A]
yourList[1]

3.2 cmath
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o] o] W XA | (Ité6 Lemma)

FEEA L 2ol A AFH HEo the £34 nd2 o) Bk
5N 22 FERE S AHES] vYEdth Bk 59 dest £
A 7125 2 "= 538} Norbert Wlener«l olE= WA BEte &%
2 Y3} (Wiener Process)o| 2t % 3tt}. F§A| Foll A 7] 2 =}4E] 7}
AR EE AYRAE e Bt /Mg ske o—r7P gt o] dojAe Y
F7goll ths AHAl 8] LotH 7= g

A& F (normal distribution) & W2+ SEWHSL X ~ N(p,0%)2 59
= 3+ (probability density function) f(z)+ T3} 2t}
1 _@w?
P(X =z) = f(z) = e 207
oV 2T

A7 pE= BF 28T o BEAROIT FERS X9 AR OhS
7} o] A28,

£1X] :/Oo :cf(:c)dx:/oo T g (5.1)

—00 OV 2T

89
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My (
dt
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d>Mx (t)

dt?
whebd, ok
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2o

I ﬂp<jx—w%+MV

202
2lo] A g st
5

o
=

)da:zl.

t+0—2t2
pt .

<
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_|_

2) + (1 + o?t)?exp <

Mx (t) = exp

/\4 o

Al o

=
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o},
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42

= (u+o*t)exp (,ut +

= o%exp <

ch=kians

\)

2

ut + Lt pt + -t

2

2D

=
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717] 913}e], x = rcosh, y = rsinfe}al X I8,

exp <
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9 u}3} % Brown <LEo|A st E 7]3F Brown ©5<& thea} zho] A

BE)

713} Brown 2% (Geometric Brownian Motion, GBM)

AutstE Brown +5 {S(1)]t < 0ol el A, 4] Z(t) = 5= Hoj=
{Z(t)|t < 0}& 7]3} Brown-#g§ °|2} st}

Al 3A AL THEE A% At 2

254 A7 (effective market hypothesis)= A] ol Al 7] &2 A H 9} 7]
4 ANE ERW HA0) BE AR FEAS A was o) At
3 7HE ST WA, AR ZE ol A A A Ql W Eke O AA R A 783 A
Hz oflrh o & 0] 12AES] W3 A4F 714 o] 200p k.t 20p Y wf
= 9 9w Stk Aotk webA W3] ojd dhA SH L ojuwe A
94 £AR 349 HEE E § Wabl dehd 5 Ak

VAL Seta bR A 28 5143 S7FS+

2
1o
5
19
2
uit:)
2
A
N
olf
o
]
ot
o



A4 @ o]xEe] HxAe(ITO LEMMA) 95
22 A (randomness) = Z 33} dX += 9 v 37 (Wiener process)= W2 31
esl 42e Beck

o dXE AFREZRE UL BF Haon

o dX9] HHAL 0ot}

o7t B 0 24 19 REAFEE N0, 1)< et dX = A==
N(0,dt)E W28 g dX = Vdip= FFAT. X(t)= uE7}50] ofB
ZdXe A = AT d - 022 P

dX =Vt
2 9
Al 4 A ojxe BWEAT(Itd Lemma)
AAL S(t)e] M3t dS7F thge] Al whe} g A o] a1 lrhal 3hA}
dS = a(S, t)dt + b(S,t)dX.

dubslE AUBA ] dg a9k bE S} tol] thet T4 a(S, 1), (S, 1) R Lnt
313 Z21g olmAA oletal atH, mekAl, o] AIAE S(H)Y FALL olE
FHgolet & 4=y oJEAA G o] &3 o] o] B R A e (It6 lemma) S

7} o] w2
dS = a(S,t)dt + b(S, t)dX
g 98 u), $9}te] B4 V(S0 L

vV 182V , 1% 1%
= _ S — - _
av ((% —1—28526(S,t)+8Sa(5,t)>dt+8sb(5,t)dX

g we
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o] 11, o] & A (5.7)°l tf)std
02 g
AV = (p— = )dt+odX = (p— - dt + oVdto

A Ao o] A2 A AT E He FE vl Ve B

dVi = <u %2> dt+a\/_¢1
dVy = <,u—%2> dt—i—a\/%qbg
AV, = < %2>dt+a\/_¢n
9 AEY FHES o Hotd,
V="+ (u— ";) t+ oV, (5.8)

AN, 1+ do+ -+ + ¢ = Vg BAE AFEIIATH (4] (10.14) 1),
V(S,t)9] pdf= —oo <V < ool Hi&

1 _—Vo--%)0?
[ 202t
oV 2t
olth. oM H HEWF SO V =log(9)E AT Z2A7 AAEEE WE,

SE EH—,—@%?——‘E—EL_(log—normal distribution) & w2t} gk}
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017 27127 y(0) = 10& H83H4,

N

y? = —322 + 100. (6.13)

T2 Fourier Transformo] tjsj A &o} X =}

flx) = h f(v)eiwvdv} " dw. (6.14)

Ll

o171 A ZE <tof Y woll thet TS f(w)eh L T4 f9] Fourier
Transform o]z}x 3t}

Flw) = # / F)e=idy. (6.15)

/ " A w)e dw, (6.16)

o 22 oA A5 B Ze) EA)

dA 1 5 f(x) 7F 2 2ol FoJ RS fe] Fourier Transform
2 FHAL

f(x)=1if |z| <1 and f(z) =0 otherwise. (6.17)

T Vo —iw L —iwV2r
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A HeH S

z = log% + (7“ - 7) (T —t) (6.19)

T = T—t (6.20)

2719 W4 29} 12 AR, V(S 6)E THeT} Lol EAGAL

Vs(S,t) = Vu(S,t)xs + V(S t)Ts

= e uy(x,7)S L

0
E (e u(z, 7)) x5

Vss(S,t) = % (efTTux(a:,T)Sfl) =e 7 (usx(a;,T)Sfl — ux(x,T)SJ)
= G;ZT (ugz(z,7)S — ug(x, 7))
= % ([uge(z, T)T8 + Urg (2, T)TS] S — Uz (2, T))

e*’l"T

= ? (um(l‘ﬂ') - ux($77_)) :

W(S,t) = VI(S,t)l‘t +VT(S, t)Tt

o 0
= (e u(z, 7)) 3¢ — g (e7u(z, 7))
2
= e "Tug( )815 < g%-i—(?“— ?)(T—t)>
0 —rT
_E (e u(l‘, T))
2
= ¢ (e, 1) (G ) = (e Tule ) + e (7))
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public:

enum enumEC{E=1, T, SIGMA, R, S};

eurocall() { init(0, 0, 0.0, 0.0, 0.0); }

eurocall(double nS, int nE, double nT, double nSigma, double nR) {
init(nS, nE, nT, nSigma, nR);}

eurocall(const eurocall &ec) { init(ec.m_nS, ec.m_nE, ec.m_nT,
ec.m_nSigma, ec.m_nR); }

virtual “eurocall(){}

void init(double nS, int nE, double nT, double nSigma, double nR);
template <typename V>

void SetData(V nData, int nType);

int GetEData(void) { return m_nE; }

double GetTData(void) { return m_nT; }

double GetSigmaData(void) { return m_nSigma; }

double GetRData(void) { return m_nR; }

double GetSData(void) { return m_nS; }

void ViewData(eurocall &obj) const;

double GetOptionPrice(double nS, int nE, double nT, double nSigma,
double nR) const;

double normcdf (double X) const;

private:

int m_nE;

double m_nT, m_nSigma, m_nR, m_nS;

1

void eurocall::init(double nS, int nE, double nT, double nSigma, double
nR)

{

SetData(nS, S);

SetData(nE, E);

SetData(nT, T);

SetData(nSigma, SIGMA);

SetData(nR, R);

}

template <typename V>

void eurocall::SetData(V nData, int nType)

{
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{

cout <<"S : " << obj.GetSData() <<endl;

cout <<"E : " << obj.GetEData() <<endl;

cout <<"T : " << obj.GetTData() <<endl;

cout <<"Sigma : " << obj.GetSigmaData() <<endl;
cout <<"R : " << obj.GetRData() <<endl;

}

int main()

{

eurocall euro(240,250, (double)2/12,0.38,0.06);

double callPrice = euro.GetOptionPrice(euro.GetSData(), euro.GetEData(),
euro.GetTData(), euro.GetSigmaData(), euro.GetRData());
euro.ViewData(euro) ;

cout << "Call Price : " << callPrice << endl;

cout << Mskkokkokkokkokkokkokkokkk" << endl;

euro.SetData (300, eurocall::S);

euro.SetData(0.1, eurocall::R);

callPrice = euro.GetOptionPrice(euro.GetSData(), euro.GetEData(),
euro.GetTData(), euro.GetSigmaData(), euro.GetRData());
euro.ViewData(euro) ;

cout << "Call Price : " << callPrice << endl;

return O;

}

o A3E P

o

219 C++ F Zeurocall.cpp= A3Ystd o}

Aol AFHAAT FAAL b /A9 Aol e Frelrh. of
Gol M o] WaEo] 217t ST el oW & e v XA Falsn

1.2.1 7| zAA7HE(S)
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K=1.0/ (1.0 + 0.2316419 * L);

w=1.0-1.0/ sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K *K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;
}

return w;

}

vector<double> linspace(int START,int END, int STEP)

{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class option_s

{

public:

option_s() { init(0, 0, 0.0, 0.0, 0.0); };

option_s(double nS, double nE, double nT, double nSigma, double nR)
{ init(nS, nE, nT, nSigma, nR);}

option_s(const option_s &data)

{ init(data.m_S, data.m_E, data.m_T, data.m_Sigma, data.m_R); }
~option_s(){}

void GetOptionPrice(void);

void init(double nS, double nE, double nT, double nSigma, double nR);
void WriteData(vector<double> X,vector<double> CP);

private:

double m_Sigma,m_T,m_R,m_E,m_S;

};

void option_s::WriteData(vector<doub1e> X,vector<double> CP)

{

ofstream output;

output.open("option_s_S_Data.dat");

output<<fixed<<setprecision(6);
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int main()

{
option_s s1(400,250, (double)2/12,0.38,0.06);
s1.GetOptionPrice();

}
9o AxE A9t =2 A E 7} Q= =1 ¢hof option_s_S_Data.dat
o option_s.CP Data.dat F /19l 0] 44 Atk AFe) saEe
datas}Qde] Fefo| B2 o= Bl sh Ao AA @rh. Ao datas)
A2 MATLADE $o0o] 2m 825 e mshd 2 Ax ek, o
3 Ao 247 C++TE7} datadt DS AR TE A4S 1o G2 FAe
datad} Y& plotdtE= m-3FY o)t}
clc; clf; clear;
S = load(’option_s_S_Data.dat’);
CP = load(’option_s_CP_Data.dat’);
plot (S, CP,’k*-’)
xlabel(’S’, ’fontsize’,20);
ylabel(’V’,’fontsize’,20, ’rotation’,0);
set(gca, ’fontsize’,20)
99 Dol % ATz Pold 1Y 639 959 AP L A3 1

9e 3o a Ao,

1.2.2 A7HA(E)
FAZHA(B)oll whet FA3 7k 9] MEE oo 19 6.
Ak WA, option_ex.cppt FAHHAC WE FA7HA

Zolth
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{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

enum enumFILE {IN=0x01, OUT, ATE=0x04, APP=0x08, FILE_MAX};
class option_ex

{

public:

option_ex() { init(0.0, 0.0, 0.0, 0.0, 0.0); };
option_ex(double nS, double nE, double nT, double nSigma, double nR)
{ init(nS, nE, nT, nSigma, nR);}

option_ex(const option_ex &data)

{ init(data.m_S, data.m_E, data.m_T, data.m_Sigma, data.m_R); }
virtual “option_ex(){}

void GetOptionPrice(int nType);

void init(double nS, double nE, double nT, double nSigma, double nR);
void WriteData(vector<double> X,vector<double> CP,int nType);
private:

double m_Sigma,m_T,m_R,m_E,m_S;

};

void option_ex::WriteData(vector<double> X,vector<double> CP,int nType)
{

ofstream output;

output.open("option_ex_S_Data.dat");
output<<fixed<<setprecision(6) ;

for (unsigned int i=0;i<X.size();i++)

{

output<<setw(12)<<showpoint<<X[i];

}

output.clear();

output.close();

output.open("option_ex_CP_Data.dat",nType);

for(unsigned int i=0;i<CP.size();i++)
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e A4 E datast Qe 9 mestd o e,

clc; clf; clear;
S = load(’option_ex_S_Data.dat’);
CP = load(’option_ex_CP_Data.dat’)’;

plot(S,CP(:,1), k*-",S, CP(:,2),’ko-",5,CP(:,3),’k™=")
legend(’E = 200°,’E = 250°,’E = 300°,2)

xlabel(’S’, fontsize’,20)

ylabel (°V’,’fontsize’,20, ’rotation’,0)

set(gca, ’fontsize’,20)

99 IES VYA AR 13 AHE A2 & Uk PAAEL
AN G BE WSES ARAL 39 A (B)o] FAE5F §47
Ao gasA gok

1.2.3 o]z (r)

38 65904 B 5 Aol §A7MEZ o] xE(r)oll hE ST EA] o]
A& (r)o] 718 5 s HA7MAE S 718k "tk option_r.cppi ©] Ak
ol W2 FANFE FIE C++ Z=ZA 18 658 4L 5 ok

1111111111/11/17/1/71717/+option_x.cpp+//////////////1/1////1/
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)
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double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

enum enumFILE {IN=0x01, OUT, ATE=0x04, APP=0x08, FILE_MAX};

class option_r

{

public:

option_r() { init(0, 0, 0.0, 0.0, 0.0); };

option_r(double nS, double nE, double nT, double nSigma, double nR)
{ init(nS, nE, nT, nSigma, nR);}

option_r(const option_r &data)

{ init(data.m_S, data.m_E, data.m_T, data.m_Sigma, data.m_R); }
virtual “option_r(){}

void GetOptionPrice(int nType);

void init(double nS, double nE, double nT, double nSigma, double nR);
void WriteData(vector<double> X,vector<double> CP,int nType);
private:

double m_Sigma,m_T,m_R,m_E,m_S;

};

void option_r::WriteData(vector<double> X,vector<double> CP,int nType)

{

ofstream output;
output.open("option_r_S_Data.dat");
output<<fixed<<setprecision(6);
for(unsigned int i=0;i<X.size();i++)
{

output<<setw(12)<<showpoint<<X[i];

}

output<<endl;

output.clear();

output.close();
output.open("option_r_CP_Data.dat",nType) ;

for(unsigned int i=0;i<CP.size();i++)
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option_r r3(400,250, (double)2/12,0.38,0.4);
r1->GetOptionPrice(0UT);
r2.GetOptionPrice (APP) ;
r3.GetOptionPrice (APP) ;

delete[] ri;

e A4 datast Qe 9 mestd o e,

clc; clf; clear;
S = load(’option_r_S_Data.dat’);
CP = load(’option_r_CP_Data.dat’)’;

plot(S,CP(:,1),’k*-",S, CP(:,2),’ko-",5,CP(:,3),’k™=7)
legend(’r = 0.00’,’r = 0.20’,’r = 0.40’,2)
xlabel(’S’,’fontsize’,20)

ylabel(’V’,’fontsize’,20, ’rotation’,0)

set(gca, ’fontsize’,20)

1.2.4 AE77KT)

option_T.m= F& 7|7k uwhel 34714
|19 6.68 @A HArt

o

o O+ RERA AW

11111171111171117171///+option_t.cpp+///////////1111/11///1/
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;
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vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

enum enumFILE {IN=0x01, OUT, ATE=0x04, APP=0x08, FILE_MAX};
class option_t

{

public:

option_t() { init(0, 0, 0.0, 0.0, 0.0); };

option_t(double nS, double nE, double nT, double nSigma, double nR)
{ init(nS, nE, nT, nSigma, nR);}

option_t(const option_t &data)

{ init(data.m_S, data.m_E, data.m_T, data.m_Sigma, data.m_R); }
virtual “option_t(){}

void GetOptionPrice(int nType);

void init(double nS, double nE, double nT, double nSigma, double nR);
void WriteData(vector<double> X,vector<double> CP,int nType);
private:

double m_Sigma,m_T,m_R,m_E,m_S;

1

void option_t::WriteData(vector<double> X,vector<double> CP,int nType)
{

ofstream output;

output.open("option_t_S_Data.dat");
output<<fixed<<setprecision(6) ;

for(unsigned int i=0;i<X.size();i++)

{

output<<setw(12)<<showpoint<<X[i];

}

output.clear();

output.close();

output.open("option_t_CP_Data.dat",ios::app);

for(unsigned int i=0;i<CP.size();i++)

{
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t1->GetOptionPrice (OUT) ;
t2.GetOptionPrice (APP);
t3.GetOptionPrice (APP);
delete[] t1;

clc; clf; clear;
S = load(’option_t_S_Data.dat’);
CP = load(’option_t_CP_Data.dat’)’;

plot(S,CP(:,1),’k*-",S, CP(:,2),’ko-",5,CP(:,3),’k™=")
legend(°T = 1/12°,°T = 5/12° ,°T = 10/12°,2)
xlabel(’S’,’fontsize’,20)

ylabel(’V’,’fontsize’,20, ’rotation’,0)

set(gca,’fontsize’,20)

F4 AL MEA(0)o] ThE ZAART ol o] F FAT] 3 Ct 3

it

/111117/11111171//1/1//+option_sig.cpp+//////////1/1///11//1/
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;
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vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

enum enumFILE {IN=0x01, OUT, ATE=0x04, APP=0x08, FILE_MAX};
class option_sig

{

public:

option_sig() { init(0, 0, 0.0, 0.0, 0.0); };

option_sig(double nS, double nE, double nT, double nSigma, double nR)
{ init(nS, nE, nT, nSigma, nR);}

option_sig(const option_sig &data)

{ init(data.m_S, data.m_E, data.m_T, data.m_Sigma, data.m_R); }
virtual “option_sig(){}

void GetOptionPrice(int nType);

void init(double nS, double nE, double nT, double nSigma, double nR);
void WriteData(vector<double> X,vector<double> CP,int ntype);
private:

double m_Sigma,m_T,m_R,m_E,m_S;

1

void option_sig::WriteData(vector<double> X,vector<double> CP,int nType)
{

ofstream output;

output.open("option_sig_S_Data.dat");
output<<fixed<<setprecision(6) ;

for(unsigned int i=0;i<X.size();i++)

{

output<<setw(12)<<showpoint<<X[i];

}

output.clear();

output.close();

output.open("option_sig_CP_Data.dat",nType);

for(unsigned int i=0;i<CP.size();i++)

{
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clc; clf; clear;
S = load(’option_sig_S_Data.dat’);
CP = load(’option_sig_CP_Data.dat’)’;

plot(S,CP(:,1),’k*-",S, CP(:,2),’ko-",S5,CP(:,3),’k"-?)
legend(’\sigma = 0.10’,’\sigma = 0.38’,’\sigma = 0.70’,2)
xlabel(’S’, fontsize’,20)

ylabel (°V’,’fontsize’,20, ’rotation’,0)

set(gca, ’fontsize’,20)
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PH(Vega, ME Aol GE SAZA AEE, AN &L A 72
AR Greck ) E HEFATH Th3-2 AN AE ToHe 23
Aoty 7| Z2AHI7HE S = 100, AZFE E = 100, o] A& r = 0.05, ¥
AZHe T =1.0, 28|22 FAY A Z7ME V,, =202 2 7}A 31 27 3
022 /\4763}/3\_]_ ] AR PHo 7 FE L& u Q3 23} A
= 1.0e — 62 3} T} Newton_implied_vol.cppe= 92| A& o] &3}
ARFHE T O+t BEolh

% 4o

T Nqlo N 2 o 2

¢

d

/1111111/1/1//1/7//7177//+Newton_implied_vol.cpp+////////////////////1/
#include<iostream>

#include<cmath>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

double normcdf (double X)

{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937,
a4 = -1.821255978, ab = 1.330274429;

L = fabs(X);

K=1.0/ (1.0 + 0.2316419 * L);

w=1.0-1.0/ sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K #*K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;

}

return w;

}

double normpdf (double X, double mu, double sigma)

{

199 Aol A A8 £ di e BE T 2

n(S/E) + (r + o%/2)T

di =
! o T
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return O;

1. f(z) = e®® — e —2 = 02 F7F [0,1]914 22 z+=r} Newton-
Rapson ®H & AH§-sto] &g ot 2}
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ug(z,t)oll sl Al A2l std, 1x4u) o] Bk A2 4= A=t

+O(h).
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ug(x,t) = Y
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$RARY S ol Boto] APAAL Fon 2 AL ABAAL A(8.8)T
2o wuE By Aot

up(x,t) = ugz(x, t), 0<z<1, t>0 (8.8)
o] W) AAZXAL u(0,t) = u(l,t) =0 (t>0)°]xL Z7NZ2AL u(x,0) =
sin(rz) (0 <z < 1)g BEah A= u(z,t) = sin(rz)e ™ toln 1
W29 T8 3AY Telme ekl 5 Aok o WA Aol 3k 2AE
BAA, A, 283 ZYI-USE FHAEH S o]&ste] FaE At

2.1 WAH (Explicit) §3 2

WA AL N, > 02 AT h = 1/(N, — 1)o]a} Zolatd, 21(8.3)9}
(8.7)€ ol 83o], A8l o) T3} Tol HBARUL 28D



B4 sl E Ul C++ Z=o|tt

145

g} £ 2= o]fo|t}. heatex.cpp a = 0.45, N, = 309 uf,
o
=

/11111111111717/7/77/7777//+neatex.cpp+/////////1/1//1/7/7/1/117/
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)

{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class heatex

{

private:

double m_alpha, m_T;

int m_Nt,m_Nx;

public:

heatex(){init(.0,0,.0);};

heatex(const heatex &data)

{init(data.m_alpha,data.m_Nx,data.m_T);};

heatex(double nalpha, int nNx, double nT)
m_alpha(nalpha), m_Nx(aNx),m_T(aT){}
“heatex(){};
void init(double nalpha, int nNx, double nT);
void GetNumericalSolution();
void WriteData(vector<double> S, vector<vector<double>>

CP,vector<vector<double>> CPP);

1
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output.close();
}

void heatex::GetNumericalSolution()

{

vector<double> x=linspace(0,1,m_Nx);

double h=x[1]-x[0],k= m_alpha*pow(h,2);

m_Nt=(int)floor (m_T/k+0.5);

vector<vector<double>> u(m_Nx, vector<double>(m_Nt+1)),exu(m_Nx,
vector<double>(m_Nt+1));

for (int i=0;i<m_Nx;i++)

uli] [0]=sin(PI*x[i]);

exu=u;

for (int n=0; n<m_Nt;n++)

{

for (int i=1; i<m_Nx-1;i++)

{

exuli] [n+1]=sin(PI*x[i])*exp(-pow(PI,2)*(k*(n+1)));

uli] [n+1]=uli] [n]+m_alpha*(ul[i-1] [n]-2.0*u[i] [n]+uli+1][n]);
}

}

WriteData(x,u,exu);

}

int main()

{

heatex ex(0.45,30,0.125);
ex.GetNumericalSolution();

return O;

}

clc; clf; clear;




A2d g wgael et e ey 149

initial

n=50

n=100
n=Nt+1

—— exact solution

O o <o %

u(x,t)

28 84: o =0.459 oFA 3} ALE]

ho 1
0 < asin? % <3 (8.12)
webA, FREAE 7 Hg A7) fE 2SR veH 2
o},
1

39 84904 a = 04590 AAE 3E2 A3 & ol 77 A A u
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A "k (8.15)= thd 22 A3 A|2H (linear system) 2 2 }E}

1+2a -« 0 0 ungl
—a 1420 —«o 0 u?“
0 —«
—Q
0 0 —a 1+2«a u%zl_l
auy™ +uj b
uy by
= : = : . (8.15)
(G auﬁ,‘:l [
(315 & o 432 Yejal
Aumth =" (8.16)

o2 vpehd & itk o714 wrtlg b (N, - 2)-38e) Mg
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= 5o, A2 (8.15)0A FoA X (N, —2)- AP E = 53T
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u" = A" (8.17)
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vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class heatim

{

private:

int m_Nx, m_Nt, m_start, m_end;

double m_h, m_T,m_alpha, m_k ;

public:

heatim(int m_Nx,double m_T, double m_alpha);
“heatim(){};

void GetNumericalSolution();

void WriteData(vector<double> S, vector<vector<double>> CP);

};

heatim: :heatim(int nNx, double nT, double nalpha)
{
m_Nx=nNx;m_T=nT;m_alpha=nalpha;m_start=0;m_end=1;
}

void heatim::GetNumericalSolution()

{

vector<double> x=linspace(m_start, m_end, m_Nx);
m_h=x[2]-x[1];

m_k=m_alpha*pow(m_h,2) ;

m_Nt=floor(m_T/m_k+0.5);

vector<vector<double>> u(m_Nx, vector<double>(m_Nt+1));
for (int i=0;i<m_Nx;i++)

uli] [0]=sin(PI*x[i]);

vector<double> dd(m_Nx-2),c(m_Nx-2),a(m_Nx-2);
for (int i=0; i<m_Nx-2;i++)

{
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for (unsigned int j=0; j< CP[i].size(); j++) {
output<<setw(12)<<showpoint<<CP[i] [j];
}

output<<endl;

}

output.clear();

output.close();

}

int main()

{

heatim im(12,0.1,2.0);
im.GetNumericalSolution();

return O;

}

clc; clf; clear;

load(’heatim_S_Data.dat’);
load(’heatim_CP_Data.dat’);

i
]

[=]
]

plot(x,u,’ko-")
xlabel(’x’,’FontSize’,20); ylabel(’u(x,t)’,’FontSize’,20);

ul = ePkhen (8.19)

o oA AT B A (8.19)2 A4 (8.15)90 UL FHE ohe
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LouE 2T E o) g stk A n1/2004 , A7kl Tl 14 B
n e Tahw ten 2}

wp (i, V) = S L O(K?) (8.21)

A ol tid 24 An22 A- ntn+ 19

1

U (x5, EVT12) = 5 (g (@, ™) + Ugg (27, 8"T1)) + O(h?) (8.22)
_ 1 uilyy = 2ui + Uiy 4 “ﬁrll =207
2 h2 h2
+0(h?).
T 2ARA (8.21)9) (8.22)9) Ak A= ZH2E O(k?) 3} O(h?) ez ZAH4 9
AET 7} =7] wjEo B AAS A otk T EA A HEH e
HAE AL 5 Aok A(8.21)9) (8.22)9 WS A W 3 T2 2
B3 g 4L 98 5 o

—Oéu?jll +2(1+ oz)uf“rl — au?jll =oui 1 +2(1 — o)u; + ouflyq, (8.23)
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#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class heatCN

{

private:

int m_Nx, m_Nt, m_start, m_end;

double m_h, m_T,m_alpha, m_k ;

public:

heatCN(int m_Nx,double m_T, double m_alpha);
~“heatCN(){};

void GetNumericalSolution();

void WriteData(vector<double> S, vector<vector<double>> CP);

};

heatCN: :heatCN(int nNx, double nT, double nalpha)
{
m_Nx=nNx;m_T=nT;m_alpha=nalpha;m_start=0;m_end=1;
}

void heatCN: :GetNumericalSolution()

{

vector<double> x=linspace(m_start, m_end, m_Nx);
m_h=x[2]-x[1];

m_k=m_alpha*pow(m_h,2) ;

m_Nt=floor(m_T/m_k+0.5);

vector<vector<double>> u(m_Nx, vector<double>(m_Nt+1));
for (int i=0;i<m_Nx;i++)

{

uli] [0]=sin(PI*x[i]);
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output<<setw(12)<<showpoint<<S[i];
output.clear();

output.close();
output.open("heatCN_u_Data.dat");

for (unsigned int n=0;n<CP[0].size() ;n++)
{

for (unsigned int i=0;i<S.size();i++)
{
output<<setw(12)<<showpoint<<CP[i] [n];
}

output<<endl;

}

output.clear();

output.close();

}

int main()

{

heatCN CN(12,0.1,2.0);
CN.GetNumericalSolution();

return O;

}

g2 datas}d S e m-sh ok,

clc; clf; clear;

load(’heatCN_x_Data.dat’);
load(’heatCN_u_Data.dat’);

e
]

[=]
]

plot(x,u,’ko-");
xlabel(’x’,’FontSize’,20); ylabel(’u(x,t)’,’FontSize’,20)

919 7= heatCN.cpps AP3H t}S2 2}

e

2g 4 qluk

o
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if (8[il>=q)

g=s[il;

}

return q;

}

class heatex_convergence_test

{

private:

double m_T,m_h, m_k, m_alpha;

int m_Nt, m_start, m_end,m_N;

public:

heatex_convergence_test(double m_T, int m_start, int m_end);
“heatex_convergence_test () {};

void WriteData(vector<double> S, vector<vector<double>> CP);
void Convergence_Test();

};

heatex_convergence_test::heatex_convergence_test(double nT, int nstart,

int nend)

{

m_T=nT;m_start=nstart; m_end=nend;m_alpha=0.1;

}

void heatex_convergence_test: :Convergence_Test()
{

vector<double> hh(5),tt(5),err(5);

for (int iter=0; iter<5;iter++)

{

m_N=10*(int)pow(2.0,iter)+1;

vector<double> x=linspace(m_start, m_end, m_N);
m_h=x[2]-x[1];

m_k=m_alpha*pow(m_h,2) ;
m_Nt=(int)floor(m_T/m_k+0.5);
vector<vector<double>> u(m_N, vector<double>(m_Nt+1));
vector<double> exact(m_N);

for (int i=0;i<m_N; i++)

{
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8.180880 8.801680 B.8681220

B.8588848 A.8882568 B.888303 2.888865
8.8256080 A.Ph0086 3 8. 888876 2.882218
B.812588 d.868801 6 B.888017 2.888555
B.886250 8. aapaas5s 2.808139

e 54 w AT FHAS dotY] A6 v HAE
=
=

///1/1/7///////////////+heatim_convergence_test.cpp+//////////////////////
#include<iostream>

#include<cmath>

#include<vector>

#include <algorithm>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}
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{

vector<double> hh(5),tt(5),err(5);
for (int iter=0; iter<5;iter++)

{

m_N=10*(int)pow(2.0,iter)+1;
vector<double> x=linspace(m_start, m_end, m_N);
m_h=x[2]-x[1];
m_k=m_alpha*pow(m_h,2);
m_Nt=floor(m_T/m_k+0.5);
vector<vector<double>> u(m_N, vector<double>(m_Nt+1));
vector<double> exact(m_N);

for (int i=0; i<m_N;i++)

{

uli] [0]=sin(PI*x[il);

exact [i]=u[i] [0] *exp (-pow(PI,2)*m_T);
}

vector<double> dd(m_N-2),c(m_N-2),a(m_N-2);
for (int i=0; i<m_N-2;i++)

{

dd[i]=1+2.0%m_alpha;

c[i]=-m_alpha;

a[il=-m_alpha;

}

vector<double> b(m_N-2),d(m_N-2);

for (int n=0;n<m_Nt;n++)

{

d=dd;

for (int i=0; i<m_N-2;i++)
blil=uli+1][n];

for (int i=1; i<m_N-2;i++)

{

double xmult=ali-1]/d[i-1];
d[il=d[i]-xmult*c[i-1];
b[il=b[i]-xmult*b[i-1];

}

u[m_N-2] [n+1]1=b[m_N-3]/d[m_N-3];
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A.1888688 A.881 6608 8.884828
A.a58008 A.8808258 8.80128% 1.995478

A.8258008 A.800063 A.8008382 1.998865
A.8125688 A.888016 8.8808876 1.9996
A.986258 8.8980004 8.8000817 1.9992929

UEBE 8 429 £34S Sobur] A3 B39

///1/1/7///////////////+heatcn_convergence_test.cpp+//////////////////////
#include<iostream>

#include<cmath>

#include<vector>

#include <algorithm>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

vector<double> absolute(vector<vector<double>> S, vector<double> SS, int

nFirst, int nSecond)
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for (int iter=0; iter<5;iter++)

{

m_N=10*(int)pow(2.0,iter)+1;

vector<double> x=linspace(m_start, m_end, m_N);
m_h=x[2]-x[1];

m_k=m_alpha*pow(m_h,2) ;
m_Nt=(int)floor(m_T/m_k+0.5);
vector<vector<double>> u(m_N, vector<double>(m_Nt+1));
vector<double> exact(m_N);

for (int i=0; i<m_N;i++)

{

uli] [0]=sin(PI*x[il);

exact [i]=u[i] [0] *exp (-pow(PI,2)*m_T);

}

vector<double> dd(m_N-2),c(m_N-2),a(m_N-2);
for (int i=0; i<m_N-2;i++)

{

dd[i]=2*(1+m_alpha) ;

c[i]=-m_alpha;

a[il=-m_alpha;

}

vector<double> b(m_N-2),d(m_N-2);

for (int n=0;n<m_Nt;n++)

{

d=dd;

for (int i=0; i<m_N-2;i++)

{

bl[i]=m_alpha*u[i] [n]+2*(1-m_alpha)*ul[i+1] [n]+m_alpha*u[i+2] [n];
}

for (int i=1; i<m_N-2;i++)

{

double xmult=ali-1]/d[i-1];
d[il=d[i]-xmult*c[i-1];
b[il=b[i]-xmult*b[i-1];

}

u[m_N-2] [n+1]=b[m_N-3]/d[m_N-3];
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A.1088688 Aa.a81 868 A.083025

8.85808a8 A.888258 A.088756 1.999772
8.82568a8 A.880063 A.0081897 1.999942
8.812588 8.8808016 8.088047 1.9999285
A.806258 A.880004 A.008012 1.9999%
Ad OFF L FEQAMZ . . . .

I 95
Ur = =0 T Ugpy + TTUL — TU.

22713 u(z,0) = max(z — E£,002 z < EY o u(z,0) = 02 2 > EY o u(z,0) =
z— EE 9u|sig.



Al 3 2 BLACK-SCHOLES ¥ u] 2 u}% 2]

Ky
Ru)
ok
Jo
ok
N
4
S
i

179

{
private:
int m_E, m_L,m_Nx, m_Nt ;

double m_sigma, m_r,m_T;

public:

BSex(int nE, int nL, double nsigma, double nr, double nT, int nNx, int
nNt)

{

m_E=nE; m_L=nL; m_Nx=nNx; m_Nt=nNt;

m_sigma=nsigma; m_r=nr; m_T=nT;

}

“BSex(){};

void GetOptionPrice(void);

void WriteData(vector<double> S, vector<vector<double>> CP);
1

void BSex::WriteData(vector<double> S, vector<vector<double>> CP)
{

ofstream output;

output.open("BSex_x_Data.dat");
output<<fixed<<setprecision(4);

for (unsigned int i=0; i < S.size(); i++)
output<<setw(12)<<showpoint<<S[i];

output.clear();

output.close();

output.open("BSex_u_Data.dat");

for(unsigned int n=0;n<CP[0].size() ;n++)

{

for (unsigned int i=0;i<S.size();i++)

{

output<<setw(12)<<showpoint<<CP[i] [n];

}

output<<endl;

}

output.clear();

output.close();
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axis image; axis([0 800 O 600])

x = load(’BSex_x_Data.dat’);
u = load(’BSex_u_Data.dat’)’;
plot(x,u(:,1:200:1001),’ko-")

clc; clf;
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BSim(double nE, int nL, double nsigma, double nr, double nT, int nNx,
int nNt)

{

m_E=nE; m_L=nL; m_sigma=nsigma; m_r=nr; m_T=nT; m_Nx=nNx; m_Nt=nNt;
}

“BSim() {};

void GetOptionPrice(void) ;

void WriteData(vector<double> S, vector<vector<double>> CP);
};

void BSim::WriteData(vector<double> S, vector<vector<double>> CP)
{

ofstream output;

output.open("BSim_x_Data.dat");
output<<fixed<<setprecision(4);

for (unsigned int i=0; i <S.size(); i++)
output<<setw(12)<<showpoint<<S[i];

output.clear();

output.close();

output.open("BSim_u_Data.dat");

for(unsigned int n=0;n<CP[0].size() ;n++)

{

for (unsigned int i=0;i<CP.size();i++)

{

output<<setw(12)<<showpoint<<CP[i] [n];

}

output<<endl;

}

output.clear();

output.close();

}

void BSim::GetOptionPrice()

{

m_k=m_T/m_Nt;

vector<double> x=linspace(0, m_L, m_Nx);

m_h=x[1]-x[0];

vector<vector<double>> u(m_Nx, vector<double>(m_Nt+1));
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int main()

{

BSim in(230.0, 800, 0.5, 0.03,1.0, 50, 100);
in.GetOptionPrice();

return O;

}

g2 datast e 9 mespd ok,

clc; clf; clear;

load(’BSim_x_Data.dat’);
load(’BSim_u_Data.dat’)’;
plot(x,u(:,1:20:101),’ko-?)
axis image; axis([0 800 0 600])

X

u

600

500

400

300

200

100
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using namespace std;

vector<double> linspace(int START,int END, int STEP)

{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class BScn

{

private:

double m_E, m_sigma, m_r, m_T, m_k, m_h;

int m_Nx, m_Nt, m_L ;

public:

BScn(double nE, int nL, double nsigma, double nr, double nT, int nNx,
int nNt)

{

m_E=nE; m_L=nL; m_sigma=nsigma; m_r=nr; m_T=nT; m_Nx=nNx; m_Nt=nNt;
}

“BScn(){};

void GetOptionPrice(void) ;

void WriteData(vector<double> S, vector<vector<double>> CP);
};

void BScn::WriteData(vector<double> S, vector<vector<double>> CP)
{

ofstream output;

output.open("BScn_x_Data.dat");
output<<fixed<<setprecision(4);

for (unsigned int i=0; i < S.size(); i++)
output<<setw(12)<<showpoint<<S[i];

output.clear();

output.close();

output.open("BScn_u_Data.dat");

for(unsigned int n=0;n<CP[0].size() ;n++)

{




Al 3 @ BLACK-SCHOLES ¥ n]2y}>g 2l oj tf §F 731 -2 5 189

ul[m_Nx-1] [n+1]=m_L-m_E*exp (-m_r*m_kx*(n+1));
b [m_Nx-3]=b[m_Nx-3]-c[m_Nx-3]*u[m_Nx-1] [n+1];
for (int i=1; i<m_Nx-2;i++)

{

double xmult=ali-1]1/d[i-1];
d[il=d[i]-xmult*c[i-1];
blil=b[i]l-xmult*b[i-1];

}

u[m_Nx-2] [n+1]=b[m_Nx-3]/d[m_Nx-3];

for (int i=m_Nx-4;i>=0; i--)

{

uli+1] [n+1]1=(b[i]l-c[il*u[i+2] [n+1]1)/d[i];

}

}

WriteData(x,u);

}

int main()

{

BScn ¢cn(230.0, 800, 0.5, 0.03,1.0, 50, 100);
cn.GetOptionPrice();

return O;

}

clc; clf; clear;

load(’BScn_x_Data.dat’);
load(’BScn_u_Data.dat’)’;
plot(x,u(:,1:20:101),’ko-")

X

u




Al 3 2 BLACK-SCHOLES ¥ u] 2 u}% 2]

Ky
Ru)
ok
Jo
ok
N
4
M
2t

191

a4 = -1.8212565978, ab = 1.330274429;

fabs(X);

K=1.0/ (1.0 + 0.2316419 * L);
w=1.0-1.0/ sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K *K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;

}

return w;

}

vector<double> linspace(int START,int END, int STEP)

{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

class BSex_stability

{

private:

double m_E, m_sigma, m_r, m_alpha,m_T, m_h, m_k;

int m_Nx, m_Nt, m_L;

public:

BSex_stability(double nE, int nL, double nsigma, double nr, double nT,
int nNx)

{

m_E=nE; m_L=nlL; m_sigma=nsigma; m_r=nr; m_alpha=0.000005; m_T=nT;
m_Nx=nNx;

}

“BSex_stability () {};

void GetOptionPrice(void) ;

void BSex_stability::WriteData(vector<double> S, vector<vector<double>>
CP,vector<vector<double>> CPP);

1
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m_h=x[2]-x[1];
m_k=2*m_alpha*pow(m_h/m_sigma,2);
m_Nt=(int)floor (m_T/m_k+0.5);
vector<vector<double>> u(m_Nx, vector<double>(m_Nt+1)),exu(m_Nx,
vector<double>(m_Nt+1));

for(int i=0;i<m_Nx;i++)

{

if (x[i]l<=m_E)

uli] [0]=0;

else

uli] [0]=x[i]l-m_E;

}

for (int n=1;n<m_Nt+1;n++)

ulm_Nx-1] [n]=m_L-m_E*exp (-m_r*m_k+*n) ;
exu=u;

vector<double> di(m_Nx),d2(m_Nx);

for (int n=0; n< m_Nt; n++)

{

for (int i=1; i<m_Nx-1;i++)

{

uli] [n+1] = ulil [n] + m_k*(((double)1/2)*pow(m_sigma, 2) * pow(x[i], 2)*

((ul[i+1] [n]1-2.0%u[i] [n]+uli-11[n]) / pow(m_h,2)) +
m_r*x[i] * ((uli+1][n]-uli-11[n])/(2.0#m_h))-m_r*uli] [n]);
}

for(int i=0;i<m_Nx;i++)

{

d1[i]l=(log(x[i]/m_E)+(m_r+pow(m_sigma,2)/2) *m_k*n) /
(m_sigma*sqrt(m_k*n)) ;

d2[il=d1[i]-m_sigma*sqrt (m_k*n) ;

exu[i] [n+1]=x[i]*normcdf (d1[i])-m_E*exp(-m_r*m_k*n)*normcdf (d2[i]);
}

}

WriteData(x, u,exu);

}

int main()
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11111111/7//7/7/7/7/7/77777/+BSim_stability.cpp+/////////////1///7//////
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);
for (int i=0; i < STEP; i++)
d.push_back(START+ n * i);

return d;

}

double normcdf(double X)

{

double L, K, w ;
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m_E=nE; m_L=nL; m_sigma=nsigma; m_r=nr; m_alpha=0.000005; m_T=nT;
m_Nx=nNx;

}

“BSim_stability () {};

void GetOptionPrice(void);

void WriteData(vector<double> S, vector<vector<double>>
CP,vector<vector<double>> CPP);

1

void BSim_stability::WriteData(vector<double> S, vector<vector<double>>
CP,vector<vector<double>> CPP)

{

ofstream output;
output.open("BSim_stability_x_Data.dat");
output<<fixed<<setprecision(4);

for (unsigned int i=0; i < S.size(); i++)
output<<setw(12)<<showpoint<<S[i];
output.clear();

output.close();
output.open("BSim_stability_u_Data.dat");
for(unsigned int n=0;n<CP[0].size() ;n++)

{

for (unsigned int i=0;i<CP.size();i++)

{

output<<setw(12)<<showpoint<<CP[i] [n];

}

output<<endl;

}

output.clear();

output.close();
output.open("BSim_stability_exu_Data.dat");
for(unsigned int n=0;n<CPP[0].size() ;n++)

{

for (unsigned int i=0;i<CPP.size();i++)

{

output<<setw(12)<<showpoint<<CPP[i] [n];

}
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b[m_Nx-3]=u[m_Nx-2] [n] /m_k-c[m_Nx-3]*u[m_Nx-1] [n+1];
for (int i=1; i<m_Nx-2;i++)

{

double xmult=ali-1]/d[i-1];

d[i]=d[i]-xmult*c[i-1];

bl[il=b[i]-xmult*b[i-1];

}

u[m_Nx-2] [n+1]=b[m_Nx-3]/d [m_Nx-3];

vector<double> di(m_Nx),d2(m_Nx);

for (int i=m_Nx-4;i>=0; i--)

uli+1] [n+1]1=(b[i]l-c[il*u[i+2] [n+1]1)/d[i];

for(int i=0;i<m_Nx;i++)

{

d1[i]l=(log(x[i]/m_E)+(m_r+pow(m_sigma,2)/2) * m_k*(n+1)) /
(m_sigma*sqrt (m_k*(n+1)));

d2[i]=d1[i]-m_sigma*sqrt (m_k*(n+1));

exuli] [n+1]=x[i]*normcdf (d1[i])-m_Exexp (-m_r*m_k+* (n+1))*normcdf (d2[i]) ;
}

}

WriteData(x,u,exu);

}

int main()

{

BSim_stability im(100, 300, 0.5, 0.03, 1.0, 30);
im.GetOptionPrice();

return O;

}

clc; clf; clear;
Nt=234;L=300;E=100;
x = load(’BSim_stability_x_Data.dat’);
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return d;

}

double normcdf (double X)

{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937,
a4 = -1.821255978, ab = 1.330274429;

L = fabs(X);
K=1.0/ (1.0 + 0.2316419 * L);
w=1.0-1.0/ sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K *K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;

}

return w;

}

vector<double> absolute(vector<vector<double>> S, vector<double> SS, int
nFirst, int nSecond)

{

vector<double> q;

for (int i=0; i < nFirst; i++) {
q.push_back(abs(S[i] [nSecond-1] - SS[il));
}

return q;

}

double sgrtsum(vector<double> S)

{

double g=0.0;

for (unsigned int i=0; i < S.size(); i++) {
gq+=pow(S[i],2);

}

return q;

}

class BSex_convergence_test

{
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{

uli] [n+1] = ulil[n] + m_k*(((double)1/2)*pow(m_sigma, 2) * pow(x[i], 2)*
((uli+1] [n]1-2.0%u[i] [n]+uli-1]1[n]) / pow(m_h,2)) +

m_r*x[i]* ((u[i+1] [n]-uli-11[n])/(2.0*m_h))-m_r*uli] [n]);

}

}

vector<double> di(m_Nx),d2(m_Nx),exact(m_Nx);

for (int i=0; i<m_Nx; i++)

{

d1[il=(log(x[i]/m_E)+(m_r+pow(m_sigma,2)/2)*m_k*m_Nt) /
(m_sigma*sqrt (m_k*m_Nt)) ;

d2[i]=d1[i]-m_sigma*sqrt (m_k*m_Nt) ;

exact [i]=x[i]*normcdf (d1[i])-m_E*exp(-m_r*m_k*m_Nt)*normcdf (d2[i]) ;
}

hh[iter]=m_h;

tt[iter]=m_k;

vector<double> F(m_Nx);

double G;
F=absolute(u,exact,m_Nx,m_Nt+1);
G=sqrtsum(F) ;

err[iter]=sqrt(G/m_Nx);

}

cout<<fixed<<setprecision(6) ;

cout << M—mmm— e ——————————————————————————— "ogg
endl;

cout <<setw(14)<<"h"<<setw(14)<<"dt"<<setw(14)<<"max_error"<<setw(14)
<<"order"<< endl;

COUL << Mmm oo "o
endl;

cout <<setw(14)<<hh[0]<<setw(14)<<tt[0]<<setw(14)<<err[0]<<setw(14) <<
endl;

for (int i=1; i<5;i++)

{
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//111/////////7//7//7///+BSim_convergence_test.cpp+//////////////////////
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

double normcdf (double X)

{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937,
a4 = -1.821255978, ab = 1.330274429;

L = fabs(X);

K=1.0/ (1.0 + 0.2316419 * L);

w=10-1.0/ sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K *K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;

}

return w;

}
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{

m_Nx=16*(int)pow(2.0,iter+1);
vector<double> x=linspace(0,m_L,m_Nx);
m_h=x[2]-x[1];

m_k=m_h/500;

m_Nt=floor(m_T/m_k+0.5);
vector<vector<double>> u(m_Nx,vector<double>(m_Nt+1));
for(int i=0;i<m_Nx;i++)

{

if (x[i]<=m_E)

uli] [0]=0;

else

uli] [0]=x[i]l-m_E;

}

for (int n=1;n<m_Nt+1;n++)

ul[m_Nx-1] [n]=m_L-m_E*exp (-m_r*m_k*n) ;
vector<double> dd(m_Nx-2), c(m_Nx-2),a(m_Nx-2);
for (int i=0; i<m_Nx-2;i++)

{

dd[il=1/m_k+pow(m_sigma*(i+1),2)+m_r;
c[il=-m_r*(i+1)*0.5-pow(m_sigmax*(i+1),2)*0.5;
alil=m_r*(i+2)*0.5-pow(m_sigma*(i+2),2)%0.5;
}

vector<double> b(m_Nx-2),d(m_Nx-2);

for (int n=0;n<m_Nt;n++)

{

d=dd;

for (int i=0; i<m_Nx-3;i++)

blil=uli+1] [n]/m_k;
b[m_Nx-3]=u[m_Nx-2] [n] /m_k-c[m_Nx-3]*u[m_Nx-1] [n+1];
for (int i=1; i<m_Nx-2;i++)

{

double xmult=ali-1]/d[i-1];
d[il=d[i]-xmult*c[i-1];
b[il=b[i]-xmult*b[i-1];
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cout<<setw(10)<<hh[i]<<setw(14)<<tt[i]<<setw(14)<<err[i]<<setw(14) <<
log(err[i-1]/err[i])/log(2.0)<<setw(14)<<endl;

}

}

int main()

{

BSim_convergence_test im(100, 400, 0.5, 0.03, 0.1);
im.GetOptionPrice();

return O;

}

o CIWWINDOWSWsystem32Weomd. exe

12.983226 -B25886 B8.872625
6.349286 012678 B.829825 1.283943
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1.568627 -B83137 B.0862084 1.825164
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9 232 F-¥ Black-Scholes g Ao ot 54 F3AEHY 4

2=t 1Rge 257t Ak



Al 3 2 BLACK-SCHOLES ¥ u] 2 u}% 2]

Ky
Ru)
ok
Jo
ok
N
4
S
i

213

q.push_back(abs(S[i] [nSecond-1] - SS[il));
}

return q;

}

double sqgrtsum(vector<double> S)

{

double g=0.0;

for (unsigned int i=0; i < S.size(); i++) {
gq+=pow(S[i],2);

}

return q;

}

class BScn_convergence_test
{

private:

int m_E, m_L,m_Nx, m_Nt ;

double m_sigma, m_r,m_T,m_h,m_k;

public:
BScn_convergence_test(int nE, int nL, double nsigma, double nr, double
nT)
m_E(nE), m_L(nL), m_sigma(nsigma), m_r(nr), m_T(aT)
{>
“BScn_convergence_test () {};
void GetOptionPrice(void);
1
void BScn_convergence_test: :GetOptionPrice()
{
vector<double> hh(5),tt(5),err(5);
for (int iter=0; iter<5;iter++)
{
m_Nx=16*(int)pow(2.0,iter+1);
vector<double> x=linspace(0,m_L,m_Nx);
m_h=x[2]-x[1];
m_k=m_h/500;
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uli+1] [n+1]1=(b[i]l-c[il*u[i+2] [n+1]1)/d[i];

}

}

vector<double> di(m_Nx),d2(m_Nx),exact(m_Nx);

for (int i=0; i<m_Nx; i++)

{

d1[i]l=(log(x[i]/m_E)+(m_r+pow(m_sigma,2)/2) *m_k*m_Nt) /

(m_sigma*sqrt (m_k*m_Nt)) ;

d2[i]=d1[i]-m_sigma*sqrt (m_k*m_Nt) ;

exact [i]=x[i]*normcdf (d1[i])-m_E*exp(-m_r*m_k*m_Nt)*normcdf (d2[i]) ;

}

hh[iter]=m_h;

tt[iter]=m_k;

vector<double> F(m_Nx);

double G;

F=absolute(u,exact,m_Nx,m_Nt+1);

G=sqrtsum(F) ;

err[iter]=sqrt(G/m_Nx);

}

cout<<fixed<<setprecision(6);

cout <« "-m-—————---——---——----—— "<
endl;

cout <<setw(10)<<"h"<<setw(14)<<"dt"<<setw(14)<<"max_error"<<setw(14) <<
"order"<< endl;

cout <« "-m-————-———---——------—— "<
endl;

cout <<setw(10)<<hh[0]<<setw(14)<<tt[0]<<setw(14)<<err[0]<<setw(14) <<
endl;

for (int i=1; i<5;i++)

{

cout<<setw(10)<<hh[i]<<setw(14)<<tt[i]<<setw(14)<<err[i]<<setw(14) <<
log(err[i-1]/err[i])/log(2.0)<<setw(14)<<endl;

}

}

int main()
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/111117/7/17717717777///+BSim_delta.cpp+//////////111///11/11/
#include<iostream>

#include<cmath>

#include<vector>

#include<fstream>

#include<iomanip>

using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(int START,int END, int STEP)

{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

double normcdf (double X)

{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937,
a4 = -1.821255978, ab = 1.330274429;

L = fabs(X);

K=1.0/ (1.0 + 0.2316419 * L);

1.0 - 1.0 / sqrt(2 * PI) * exp(-L #L / 2) *

(al * K + a2 * K #*K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0){

w= 1.0 - w;

}

w
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output.open("BSim_delta_uu_Data.dat");
for (unsigned int i=0;i<CPP.size();i++)
output<<setw(12)<<showpoint<<CPP[i];
output.clear();

output.close();

}

void BSim_delta::Get_Delta()

{

m_k=m_T/m_Nt;

vector<double> x=linspace(0,m_L, m_Nx);
m_h=x[1]-x[0];

vector<double> v;

for(int i=0; i<m_Nx;i++)

{

if (x[il<=m_E)

v.push_back(0);

else

v.push_back(x[i]-m_E) ;

}

vector<double> dd(m_Nx-2),c(m_Nx-2),a(m_Nx-3),d(m_Nx),b(m_Nx);
for(int i=0;i<m_Nx-2;i++)

{

dd[il=1/m_k+pow(m_sigma*(i+1),2)+m_r;
clil=—m_rx(i+1)/2-pow(m_sigmax(i+1),2)/2;
}

for(int i=0;i<m_Nx-3;i++)
alil=m_r*(i+2)/2-pow(m_sigmax* (i+2),2)/2;
for(int n=0;n<m_Nt;n++)

{

d=dd;

for(int i=0;i<m_Nx-3;i++)
blil=v[i+1]/m_k;
v[m_Nx-1]=m_L-m_E*exp(-m_r*m_k*n) ;
b[m_Nx-3]=v[m_Nx-2] /m_k-c[m_Nx-3]*v[m_Nx-1];

for(int i=1;i<m_Nx-2;i++)
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Delta2 = load(’BSim_delta_uu_Data.dat’);
hold on

plot (x(2:Nx-1),Delta, ’k*-’);
plot(x,Delta2,’ko-’); grid on

hold off

xlabel(’Underlying Asset’,’fontsize’,20)
ylabel(’Delta’,’fontsize’,20)

legend (’FDM’, ’Exact’,4)

set(gca, ’fontsize’,20)
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{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937

, a4 = -1.821255978, ab = 1.330274429;

fabs(X);

1.0 / (1.0 + 0.2316419 * L);

1.0 - 1.0 / sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K *K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X <0 )4

w

w= 1.0 - w;
}
return w;

}

class BSim_gamma

{

private:

int m_E, m_L,m_Nx, m_Nt ;

double m_sigma, m_r,m_T,m_h,m_k;

public:
BSim_gamma(int nE, int nL, double nsigma, double nr, double nT, int nNx,
int nNt)

m_E(nE), m_L(nL), m_sigma(nsigma), m_r(ar), m_T(nT), m_Nx(nNx),
m_Nt (nNt)

{3

“BSim_gamma () {};

void WriteData(vector<double> S, vector<double> CP,vector<double>
CPP);

void Get_gamma(void);
};
void BSim_gamma::WriteData(vector<double> S, vector<double>
CP,vector<double> CPP)
{
ofstream output;

output.open("BSim_gamma_x_Data.dat");
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a.push_back(m_r*(i+2)/2-pow(m_sigmax(i+2),2)/2);
for(int n=0;n<m_Nt;n++)

{

d=dd;

for(int i=0;i<m_Nx-3;i++)

blil=v[i+1]/m_k;
v[m_Nx-1]=m_L-m_E*exp(-m_r*m_kx(n+1));
b[m_Nx-3]=v[m_Nx-2] /m_k-c[m_Nx-3]*v[m_Nx-1];
for(int i=1;i<m_Nx-2;i++)

{

double xmult=ali-1]/d[i-1];
d[i]=d[i]-xmult*c[i-1];

blil=b[i]l-xmult*b[i-1];

}

v [m_Nx-2]=b[m_Nx-3]/d[m_Nx-3];

for(int i=m_Nx-4;i>=0;i--)

{

v[i+1]=(b[i]l-c[il*v[i+2])/d[i];

}

}

vector<double> Gammal,Gamma?2;
Gammal.push_back(0) ;

for(int i=1; i<m_Nx-1;i++)
Gammal.push_back((v[i+1]-2*v[i]l+v[i-1])/pow(m_h,2));
for(int i=0; i<m_Nx;i++)

{

double d=(log(x[i]/m_E)+(m_r+pow(m_sigma,2)/2)*m_T)/(m_sigma*sqrt(m_T));
Gamma?2.push_back((exp(-0.5*pow(d,2)))/(x[i]*m_sigma*sqrt (2*PI*m_T)));
}

Gamma2[0]=0;

WriteData(x,Gammal,Gamma2) ;

}

int main()

{

BSim_gamma gamma(230, 800,0.5,0.03,1.0,50, 100);

gamma .Get_gamma() ;
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#include<vector>
#include<fstream>
#include<iomanip>
using namespace std;

#define PI 4.0*atan(1.0)

double normcdf (double X)
{
double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937

, a4 = -1.821255978, ab = 1.330274429;

fabs(X);

1.0 / (1.0 + 0.2316419 * L);

1.0 - 1.0 / sqrt(2 * PI) * exp(-L *L / 2) *

=
1]

(al * K + a2 * K #*K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
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output.open("BSim_theta_x_Data.dat");
output<<fixed<<setprecision(4);

for (unsigned int i=0; i < S.size(); i++)
output<<setw(14)<<showpoint<<S[i];
output.clear();

output.close();
output.open("BSim_theta_u_Data.dat");
for (unsigned int i=0;i<CP.size();i++)
output<<setw(14)<<showpoint<<CP[i];
output.clear();

output.close();
output.open("BSim_theta_uu_Data.dat");
for (unsigned int i=0;i<CPP.size();i++)
output<<setw(14)<<showpoint<<CPP[i];
output.clear();

output.close();

}

void BSim_theta: :Get_theta()

{

m_k=m_T/m_Nt;

vector<double> x=linspace(0,m_L, m_Nx);
m_h=x[1]-x[0];

vector<double> v,ov;

for(int i=0; i<m_Nx;i++)

{

if (x[i]l<=m_E)

v.push_back(0);

else

v.push_back(x[i]-m_E);

}

vector<double> dd(m_Nx-2),c(m_Nx-2),a(m_Nx-3),d(m_Nx),b(m_Nx);
for(int i=0;i<m_Nx-2;i++)

{

dd[il=1/m_k+pow(m_sigma*(i+1),2)+m_r;
clil=—m_r*(i+1)/2-pow(m_sigmax(i+1),2)/2;
}
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}

WriteData(x,thetal,theta2);

}

int main()

{

BSim_theta theta(230, 800,0.5,0.03,1.0,50, 100);
theta.Get_theta();

}

clc; clf; clear;

x = load(’BSim_theta_x_Data.dat’);
thetal = load(’BSim_theta_u_Data.dat’);
theta2 = load(’BSim_theta_uu_Data.dat’);
hold on

plot(x, thetal,’k*-’)

plot(x, theta2,’ko-’);

hold off

grid on

xlabel (’Underlying Asset’,’fontsize’,20)
ylabel (’Theta’,’fontsize’,20)

legend (’FDM’, ’Exact’,4)
set(gca,’fontsize’,20)
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{

vector<double> d;

double n = ((double)END - START) / (STEP-1);

for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

double normcdf (double X)

{

double L, K, w ;

double const al = 0.31938153, a2 = -0.356563782, a3 = 1.781477937
, a4 = -1.821255978, ab = 1.330274429;

fabs(X);

1.0 / (1.0 + 0.2316419 * L);

1.0 - 1.0 / sqrt(2 * PI) * exp(-L *L / 2) *

(al * K + a2 * K #*K + a3 * pow(K,3) + a4 * pow(K,4) + ab * pow(K,5));
if (X < 0 ){

w

w= 1.0 - w;
}
return w;

}

class BSim_rho

{

private:

int m_E, m_L,m_Nx, m_Nt ;
double m_sigma,m_T,m_h,m_k;

vector<double> m_r;

public:
BSim_rho(int nE, int nL, double nsigma, vector<double>nr, double nT, int
nNx, int nNt)
m_E(nE), m_L(nL), m_sigma(nsigma), m_T(nT), m_Nx(nNx),m_r(nr),m_Nt(nNt)
{3
“BSim_rho () {};
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{

if (x[il<=m_E)

v[i]l=0;

else

v[il=x[i]-m_E;

}

vector<double> dd(m_Nx-2),c(m_Nx-2),a(m_Nx-3),d(m_Nx),b(m_Nx);
for(int i=0;i<m_Nx-2;i++)

{

dd[il=1/m_k+pow(m_sigma* (i+1),2)+m_r[j];
clil=—m_r[jl*(i+1)/2-pow(m_sigma*(i+1),2)/2;
}

for(int i=0;i<m_Nx-3;i++)
alil=m_r[j1*(i+2)/2-pow(m_sigmax*(i+2),2)/2;
for(int n=0;n<m_Nt;n++)

{

d=dd;

for(int i=0;i<m_Nx-3;i++)

blil=v[i+1]/m_k;

v[m_Nx-1]=m_L-m_E*exp(-m_r [j]*m_k*n) ;
b[m_Nx-3]=v[m_Nx-2] /m_k-c[m_Nx-3]*v[m_Nx-1];
for(int i=1;i<m_Nx-2;i++)

{

double xmult=ali-1]/d[i-1];
d[i]=d[i]-xmult*c[i-1];
b[il=b[i]-xmult*b[i-1];

}

v [m_Nx-2]=b[m_Nx-3] /d[m_Nx-3] ;

for(int i=m_Nx-4;i>=0;i--)

{

v[i+1]=(b[i]-c[i]l*v[i+2])/d[i];

}

}

if (j==0)

vO=v;

else
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plot(x,Rho,’k*-’); hold on
plot(x,Rho2,’ko-"); grid on

xlabel (’Underlying Asset’,’fontsize’,20)
ylabel (’Rho’,’fontsize’,20)
legend (’FDM’, ’Exact’,4)

set(gca, ’fontsize’,20)
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}
return w;
}
vector<double> max(vector<double> S,double E)
{
vector<double> u;
for(unsigned int i=0;i<S.size();i++)
u.push_back(max(S[i]-E,0.0));
return u;
}
class BSim_vega
{
private:
int m_E, m_L,m_Nx, m_Nt ;
double m_r,m_T,m_h,m_k;
vector<double> m_sigma;
public:
BSim_vega(int nE, int nL, vector<double> nsigma, double nr, double nT,
int nNx, int nNt)
m_E(nE), m_L(nL), m_sigma(nsigma), m_T(nT), m_Nx(nNx),m_r(nr),m_Nt(aNt)
{3
“BSim_vega(){};
void WriteData(vector<double> S, vector<double> CP,vector<double>
CPP);
void Get_vega(void);
1
void BSim_vega::WriteData(vector<double> S, vector<double>
CP,vector<double> CPP)
{
ofstream output;
output.open("BSim_vega_x_Data.dat");
output<<fixed<<setprecision(4);
for (unsigned int i=0; i < S.size(); i++)
output<<setw(14)<<showpoint<<S[i];
output.clear();

output.close();
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{

double xmult=ali-1]/d[i-1];

d[il=d[i]-xmult*c[i-1];

b[il=b[i]-xmult*b[i-1];

}

v [m_Nx-2]=b[m_Nx-3]/d[m_Nx-3];

for(int i=m_Nx-4;i>=0;i--)

{

vli+1]=(b[il-c[il*v[i+2])/d[i];

}

}

if (j==0)

vO=v;

else

vi=v;

}

vector<double> vegal;

for(int i=0; i<m_Nx;i++) {
vegal.push_back((v1[i]-v0[i])/(m_sigma[1]-m_sigma[0]));
}

vector<double> vega2;

for(int i=0; i<m_Nx;i++)

{

double sigma=(m_sigma[1]+m_sigmal[0])/2;

double di=(log(x[i]/m_E)+(m_r+pow(sigma,2)/2)*m_T)/(sigma*sqrt(m_T));
vega2.push_back(x[i]*sqrt (m_T)*exp(-0.5*pow(dl,2))/sqrt (2+PI));
}

WriteData(x,vegal,vega2);

}

int main()

{

vector<double> vsigma;

vsigma.push_back(0.4);

vsigma.push_back(0.5);

BSim_vega vega(230,800,vsigma,0.03,1.0,50,100);
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/111117/7/1//17////7////+binomial _1time.cpp+/////////////1///1/////
#include<iostream>

#include<cmath>

#include<vector>

using namespace std;

vector<double> max(vector<double> S,double E)
{

vector<double> u;

for(unsigned int i=0;i<S.size();i++)
u.push_back(max(S[i]-E,0.0));

return u;

}

class binomial_1time

{

private:

int m_S,m_E;

double m_r,m_T;

vector<double> m_St;

public:

binomial_1time(int nE, int nS,double nr, double nT,vector<double> nSt)

m_E(@mE), m_S@S) ,m_r(ar), m_T(T),m_St(nSt)
{3
“binomial_1time ) {};

void Get_Callprice(void);
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/1111717//11177//777////+binomial _1time2.cpp+/////////////1////////
#include<iostream>

#include<cmath>

#include<vector>

using namespace std;

class binomial_1time2
{

private:

int m_S,m_E,m_N;

double m_r,m_T,m_u,m_d,m_p;
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return u;

}

class binomial_2time
{
private:
int m_S,m_E,m_N;
double m_r,m_T,m_p,m_dt,m_u,m_d;
public:
binomial_2time(int nE, int nS,int nN,double nr, double nT,double
nu,double nd)
m_E(@mE), m_S(S) ,m_r(ar), m_T(@T),m_u(nu),m_d(nd) ,m_N(2)
{3
“binomial_2time(){};
void Get_Callprice(void);
1
void binomial_2time::Get_Callprice()
{
m_dt=m_T/m_N;
m_p=(exp(m_r*m_dt)-m_d)/(m_u-m_d) ;
vector<vector<double>> m_St(m_N+1,vector<double>(m_N+1));
m_St[0] [0]=m_S;
for(int j=1;j<m_N+1;j++)
{
for(int i=0;i<=j;i++)
{
m_St[i] [j1=m_S*pow(m_u, (j-1i))*pow(m_d, i) ;
}
}
vector<vector<double>> call(m_N+1,vector<double>(m_N+1));
for (int i=0;i<m_N+1;i++)
{
call[i] [m_N]=max(m_St[i] [m_N]-m_E,0.0);
}
for(int j=m_N-1;3j>=0;j--)
{
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m_St[jl=m_St[j-1]*m_u/m_d;

call=max(m_St,m_E);

for(int i=m_N;i>=1;i--)

{

for(int j=0;j<i;j++)
call[jl=exp(-m_r*m_dt)*(m_pxcall[j+1]+(1-m_p)*calll[jl);
}

cout<<"Call price is "<<call[0]<<endl;

}

int main()

{

binomial bino(100,100,10,0.05,1.0,0.3);
bino.Get_Callprice();

}
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{

R.push_back((m_a*R[i-1]+m_c)%m_M) ;
U.push_back((double)R[i]/m_M) ;
cout<<setw(9)<<i<<setw(12)<<R[i-1]<<setw(16)<<U[i-1]<<endl;
}

}

int main()

{

uniform_randl randi(7,1,18);
randl.Get_rand1();

return O;

}

9] 7= uniform_randl.cppE At A= tfS3 2ok
A ATl & Axol AF71Ad M =18 S
STk 10,20, 723 20AA WA 721

2.2 Non-uniform Distribution& Z'= U4 A A: Box-Muller

Method

1 if z€FE.

0 otherwise.

FEUE FF f(2) = gmxp02m (@) HAA FEEZTFE 2 H 2
[e]

F(m):/oxf(t)dt:/ox%dt:%. (10.7)
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#include<iostream>
#include<cmath>
#include<vector>
#include<time.h>
#include<fstream>
#include<iomanip>
using namespace std;

#define PI 4.0*atan(1.0)

vector<double> linspace(double START,double
{

vector<double> d;

double n = ((double)END - START) / (STEP-1);
for (int i=0; i < STEP; i++)
d.push_back(START+ n * i);

return d;

}

template<typename T>

T max(vector<T> S)

1111111111/11/11777117/+box_muller.cpp+/////////////////1/////

END, int STEP)
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{

vector<double> u;

for(unsigned int i=0; i<A.size();i++)
u.push_back(sqrt (-2*log(A[i]))*sin(2*PI*B[i]));
return u;

}

vector<double> hist_dom(vector<double> A,int n)
{

double max_A=max(A);

double min_A=min(A);

vector<double> u=linspace(min_A,max_A,n) ;
return u;

}

vector<double> hist_freq(vector<double> A,vector<double> x)
{

vector<double> c;

double h=x[1]-x[0];

for(unsigned int i=0; i<x.size()-1;i++)

{

double count=0;

for(unsigned int j=0;j<A.size();j++)

{

if (x[1]1<=A[j] && A[jl<x[i+1])

count+=1;

}

c.push_back(count) ;

}

c.push_back(1);

return c;

}

template<typename T>

bool WriteData(vector<T> data,const char* filename)
{

if (data.empty())

return false;




Al 2 d dsAH4(RANDOM NUMBER GENERATION) 285

clc; clf; clear;

x1= load(’x1_Data.dat’);

x2= load(’x2_Data.dat’);

yl= load(’A_Data.dat’);

y2= load(’A_Data.dat’);

hold on

plot(xl, y1,’k*’,’linewidth’,1);
plot(x2, y2,’ko’,’linewidth’,1);
plot(x1l, exp(-0.5%x1.72)/sqrt(2*pi),’k-’,’linewidth’,2);
legend(’Z1°,°Z2’,°pdf’);

xlabel (’random number’,’fontsize’,15);
ylabel(’Prob.density’,’fontsize’,15);
axis([min(x1) max(x1) 0 0.5])

set(gca, ’fontsize’,15)

hold off

dr oot WS
A
=
O,
o
o

N

Zd 2 7] £3)(Cholesky decomposition)

3 & (symetric positive definite matrix)2 LU &
2llE AT + vk WA FEAFEol A J
g zo] tidte] 274z > 09 AL 9

A} =
7§ Zh(eigenvalue) o) BF 5ol WP FAF Lol Bk 2 x 2

o, & N
by 0=
e
T; o,

(o=}
S
O
o
L
E N
o



287

U414 (RANDOM NUMBER GENERATION)

A 24

A,

F71 Sl A |A kA i

] £ Box-Muller

oy

do] Fo8 yehdny. I2)a oA

i
ey
gl

O

X
N
e

o

73] 17},

2

o =
73‘!“?—1‘

Z Akl 2702

2 7]

ofy

SHA}.

_x._E
it
)

;ﬂmo

7} 2t}

o
=

o}



A 3" F7F 4 2(STOCK PROCESS) Al E & o]d 289

o714, SH FEUFEY FEALZ 095 & 5 Atk A5 el sl
At Aol AdEe &+ Atk
Cov[X,Y] = CovlY,X]
Cov[X,X] = Var[X]
Cov[aX,Y] = aCovlY,X]
Cov[X1 + X2, Y] = E[(X1+ X2)Y] - E[X1 + Xo]E[Y]

— E[XiY + XoV] - (E[X1] + E[Xa))E[Y]
= E[X\Y]+ E[XoY] - E[X\|E[Y] - E[X5]E[Y]
= COU[Xl,Y] +COU[X2,Y]

T g Abo] o] 24

o

o 5o] T4

o

59 e 2k

Cov[p], 5] = Cov[pr, p1p+ P2/ 1 — p?]
= Cov[p1,d1p] + Cov[p1, P2/ 1 — p?]
= pCovlpr, $1] + /1 — p2Cov[¢1, ¢2]
= p.

oA =3} o] HH = AdAA S (Correlation)& +3f| 2 A}

Cov[¢], ¢3]

Corr[¢], d5] = =
191, ¢2] VVarlgily/Vares)

Al 34 F7} HZ(Stock Process) Al E# o] A
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vector<double> d;

double n = ((double)END - START) / (STEP-1);
for (int i=0; i < STEP; i++)

d.push_back(START+ n * i);

return d;

}

vector<double> randu(int n )

{

vector<double> u;

for (int i=0; i < n; i++) {
u.push_back((double)rand() / RAND_MAX );

}

return u;

}

vector<double> cosZl(vector<double> A, vector<double> B)
{

vector<double> u;

for(unsigned int i=0; i<A.size();i++)
u.push_back(sqrt (-2xlog(A[i]))*cos (2*PI*B[i]));
return u;

}

vector<double> sinZ2(vector<double> A, vector<double> B)
{

vector<double> u;

for(unsigned int i=0; i<A.size();i++)
u.push_back(sqrt (-2*log(A[i]))*sin(2*PI*B[i]));
return u;

}

class stock_process

{

private:

vector<double> m_S;

int m_N;

double m_r, m_vol, m_T, m_dt;

public:

stock_process(double nr, double nvol, double nT, int nN):
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int main()

{

stock_process stock(0.03, 0.3, 1.0, 100);
stock.Get_Stock_Process();

return O;

}

oL data 2L ¢ m-shd ot

clc; clf; clear;

t = load(’stock_process_x_Data.dat’);

S = load(’stock_process_u_Data.dat’);

plot(t,S,’*-’); xlabel(’Time’); ylabel(’Stock Price’);

1% 10.8 2 919] stock_process.cpp C++ ZE=E APt 235 1}
ehdl Aol
27109 & A5 Z2A 2 100705 A 275 vepd 2ot

27 FAAS S7b Fol @ W o] HAL AT BN Aol
T2 [0,7]] MEAo R SYAA WA FAAS 55 ABH A
%+ Ak A Eol B AFY AU AYY T4 D) ol
fr = Mas(Ss ~ B,O% 79T 2AA4HIE BATE A8 2
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return P;

}

vector<double> randn2(int n)

{

vector<double> u(randu(n)),v(randu(n)),P(sinZ2(u,v));

return P;

}

class MC_call

{

private:

int m_M,m_E,m_S,m_n;

double m_r, m_vol, m_T, m_dt;

public:

MC_call(int nE,int nS,int nn,double nr, double nvol, double nT, int nM):
m_E(@E),m_S(S) ,m_r(nr), m_n(nn),m_vol(nvol), m_T(nT), m_M@@M){}
“"MC_call(){};
void Get_Call_price(void);

1

void MC_call::Get_Call_price()

{

srand((unsigned int)time(NULL));

m_dt=m_T/m_n;

vector<vector<double>> m_SP(m_M, vector<double>(m_n+1));

vector<double> R(m_n+1);

for(int i=0;i<m_M;i++)

m_SP[i] [0]=m_S;

for(int i=0;i<m_M;i++)

{

int half=floor(m_n+1/2.0);

for(int j=0; j<half;j++)

R[jl=randni (half) [j];

for(int j=0; j<m_n+1-half;j++)

R[j+half]=randn2(m_n+1-half) [j];

for(int j=1;j<m_n+1;j++){

m_SP[i] [j1=m_SP[i] [j-1]*exp((m_r-pow(m_vol,2)/2)*m_dt

+m_vol*R[jI*sqrt(m_dt));}
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7F AR E(N(0,1)E mEE 35 ¢ (1 < i <n)7k Ao A 3e
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11111111171777/77777777/+MC_callad.cpp+//////////1/1/7/7/7/777/
#include<iostream>

#include<cmath>

#include<vector>

#include <algorithm>

#include<time.h>

#include <numeric>

#include<cstdlib>

using namespace std;

#define PI 4.0*atan(1.0)
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class MC_stock_process

{

private:

int m_S,m_E,m_M;

double m_vol;

vector<vector<double>> m_SP;

vector<double> info_vec;

public:

MC_stock_process(int nS,int nE,int nM,double nvol):
m_S(nS) ,m_E(nE) ,m_vol (nvol) ,m_M(M) {}
“MC_stock_process (){};
vector<vector<double>> Get_stock_process(void);
vector<double> info(void);

1

vector<vector<double>> MC_stock_process::Get_stock_process()

{

vector<vector<double>> m_SP(m_M, vector<double>(2));

for(int i=0;i<m_M;i++)

m_SP[i] [0]=m_S;

return m_SP;

}

vector<double> MC_stock_process::info(void)

{

info_vec.push_back(m_E);

info_vec.push_back(m_vol);

return info_vec;

}

class MC_call_Price2d

{

private:

vector<vector<double>> m_SP1, m_SP2,m_L;
vector<double> m_infol,m_info2,m_wO,m_w;
double m_rho,m_r,m_T,m_dt;

int m_ns;

public:
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m_SP2[i] [1]1=m_SP2[i] [0]*exp((m_r-pow(m_info2[1],2)/2)*m_dt
+m_info2[1]*m_w[1]*sqrt(m_dt));

}

vector<double> max_m_SP1,max_m_SP2,max_m_SP;

for(int i=0;i<m_ns;i++)
max_m_SP1.push_back(max(m_SP1[i] [1]-m_info1[0],0.0));
for(int i=0;i<m_ns;i++)
max_m_SP2.push_back(max(m_SP2[i] [1]-m_inf02[0],0.0));
for(int i=0;i<m_ns;i++)
max_m_SP.push_back(max(max_m_SP1[i] ,max_m_SP2[i]));
double payoff=mean(max_m_SP);

cout<<"Call Price is "<<exp(-m_r*m_T)*payoff<<endl;

}

int main()

{

MC_stock_process stock1(100,100,1000,0.3);

MC_stock_process stock2(100,100,1000,0.3);

vector<vector<double>> processl(stockl.Get_stock_process())
,process2(stock2.Get_stock_process());

vector<double> infol(stockl.info()),info2(stock2.info());
MC_call_Price2d Price(processl,infol,process2,inf02,0.5,0.05,0.5,1000);
Price.Get_call_price();

return O;

}
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Desmond J. Higham
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The Mathematics of Financial Deriva-
tives (Paul Wilmott)

Finance is one of the fastest growing areas
in the modern banking and corporate world.
this, together with the sophistication of mod-
ern financial products, provides a rapidly
growing impetus for new mathematical mod-
els and modern mathematical methods; the
area is an expanding source for novel and rel-

evant 'real-world’ mathematics.

An Introduction to Financial Option
Valuation (Desmond Higham)

This is a lively textbook providing a solid in-
troduction to financial option valuations for
undergraduate students armed with a work-
ing knowledge of first-year calculus, written
in a series of short chapters, its self-contained

treatment gives equal weight.

Computational Finance (Levy, George)
Computational finance presents a modern
computational approach to mathematical fi-
nance within the window environment, and
contains financial algorithms, mathematical
proofs and computer code in C/C++. The
author illustrates how numeric components
can be developed which financial routines to
be easily called by the complete range of Win-
dows applications, such as Excel, Borland

Delphi, Visual Basic and Visual C++.
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Numerical Methods in
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Numerical Methods in Finance And
Economics (Paolo Brandimarte)

A state-of-the-art introduction to the pow-
erful mathematical and statistical tools used
in the field of finance. A MATLAB-Based
Introduction bridges the gap between finan-
cial theory and computational practice while
showing readers how to utilize MATLAB the
powerful numerical computing environment—

for financial applications.

Paul Wilmott on Quantitative Finance
3 Volume (Paul Wilmott)

Volume 3: Advanced Topics; Numerical
Methods and Programs. In this volume the
reader enters territory rarely seen in text-
books, the cutting-edge research. Numerical
methods are also introduced so that the mod-
els can now all be accurately and quickly

solved.
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Introduction to Programming with
C++

(Y.Daniel Liang)

There are many C+4 texts. What dis-
tinguishes this book from others are the
fundamentals-first approach and the writing
style. The fundamentals-first approach intro-
duces fundamental programming concepts on
control statements, loops, functions, and ar-
rays before introducing object=oriented pro-

gramming.
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